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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271429
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592724039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given responses, find the missing letter in the series.

AU, BW, CY, ??
Options:

1. = BC
2. » KL
3. = MN
4. v DA

Question Number : 1 Question Id : 54592724039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev a1v fashedt & & Aol # ofvd 38T T AT HIfSV

AU, BW, CY, 77

Options:

1. = BC
2. = KL
3. = MN
4. v DA

Question Number : 2 Question Id : 54592724040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find out the next term.

8149, 111.100, 140169, ?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 5F16
2. TN49
3. 8M8&1
4. 5F9

Question Number : 2 Question Id : 54592724040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HdTell Y “Ald 5ﬁ|iaQ|

8149, 11L100,140169, 7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 5F16
2. 7N49
3. 8M&1
4. 5F9

Question Number : 3 Question Id : 54592724041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If in ‘SEMESTER’ vowels are replaced with its previous letter
and Consonant are replaced with its next letter then how
many vowels are their in the result?

Options:

1. v One



2. » TWO
3. » Three
4. = Four

Question Number : 3 Question Id : 54592724041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I SEMESTER '&F TG &l 38 U@ 38T & sicel foar
ST 3T STl shl 38k 379Tel 38T O el f¢dr e ar ured
gRoma 7 Rder T@T 87

Options:
1. v Th
2. % &

3. = drel
4. = TN

Question Number : 4 Question Id : 54592724042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out from the given alternatives.

Options:

1. * Mob
2. = Herd
3. = Assembly
4. v Solo

Question Number : 4 Question Id : 54592724042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu 7w faereul & O favw a9 +I

1. = g
2.&533



3. % THT
4., v Uehdl

Question Number : 5 Question Id : 54592724043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, certain pairs of words are given,
out of which the words in all pairs except one, bear a certain
commeon relationship. Choose the pair in which the words are
differently related.

Options:

1. = Britain : Cricket

2. v Japan : Rughy

3. » USA : Baseball

4. = Spain: Bull fighting

Question Number : 5 Question Id : 54592724043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafEad wear &, o fRad ot v 7w §, et & o
FT BISHT T TS A oeg FT Uk T9Td ATHTET o &1 39
SIIST T ol TSIHA <Tse 37T dE § Tafad gl

Options:

1. » fgda: Tohehe

2. v SM9TeT: T

3.  HYF T AN : dFaiel
4. = TU: ol W3

Question Number : 6 Question Id : 54592724044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd group from the given alternatives.

Options:

1.« AB: EF




2. % BC:FG
3.vPQ:SU
4. % TU : XY

Question Number : 6 Question Id : 54592724044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev a0 faeredl # @ fawHw S 0]

Options:

1. = AB : EF
2. = BC : FG
3. v PQ : SU
4. = TU : XY

Question Number : 7 Question Id : 54592724045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

STAR : CONSTELLATION :: Quintal : ?

Options:

1. = pounds
2. = kilolitre
3. = Kilogram
4. v tonne

Question Number : 7 Question Id : 54592724045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fFafa@a mead & U a0 [@redl # O gFeiedd
ET/SS/TTAT <hl gf&ul

dNT : d&T-ASol ;; Todcel : ?
Options:

1. = 913
2. % Tepellellel
3. = frellama
4. v T

Question Number : 8 Question Id : 54592724046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number {rom the given alternatives.

Alrplane : Fleet ::

Options:

1. * Wheels : bearings

2. = Shaft : bearings
3. v Soldier : regiment
4. = Book: printer

Question Number : 8 Question Id : 54592724046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ed U2l A T 97 [eredt # & graleud
ITETT/TSS/TTIT hi gﬁvl

&dTs Sfalel : 88T

Options:




« fgar ; miEr
x eMFe : foraier
v 8T I
% qFceh: fleT

ol

Question Number : 9 Question Id : 54592724047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

PH : RI ::
Options:

1. * KM : KI
2.+ T] : VK
3.+ XL : LG
4. % NG : DC

Question Number : 9 Question Id : 54592724047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el wesT &, U 917 Gehedl & & FaTad 378 / o /
HqEAT 1 GlAv|

PH : RI ::

Options:

1. = KM : Kl
2. v TJ : VK
3. = XL : LG

4. = NG : DC



Question Number : 10 Question Id : 54592724048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code TEAM is written as ‘33’ and AGENCY is
written as ‘26°. How is WIFI written in that code?

Options:

1. v 32
2. % 28
3.% 21
4. % 15

Question Number : 10 Question Id : 54592724048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ferel fafRee she &, TEAM &1 fomar 33' & 3T AGENCY I
26" forEa &, 38 Fe & WIFI $a formr sreem?

Options:

1. v 32
2. = 28
3. = 21
4. = 15

Question Number : 11 Question Id : 54592724049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If Green means ‘courageous’, ‘courageous’ means ‘Shop’, Shop’
means ‘Tree’, ‘Tree’ means ‘Car’, Car’ means ‘Gym’ and Gym’
means ‘Road’, then what runs on the road?

Options:

1. = Tree
2. v Gym
3. = Road
4. = Shop



Question Number : 11 Question Id : 54592724049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife "B FT Ades 'GIgHr, 'GIgar &l Aded e, 'eng’ &
Adold 'U8', U8 &1 Adad ', FN HT Ades oH 3 &F
T Adeld 'US' &, d VS W FAT ToIdT g7

Options:

1. =« Ug
2. v A
3. = U8

4.%%7'-1“?

Question Number : 12 Question Id : 54592724050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, a group of letters is given which are
numbered 1, 2, 3, 4, 5 and 6. Below are given four alternatives
containing combinations of these numbers. Select that
combination of numbers so that letters arranged accordingly,
form a meaningful word.

IGNHAC
123456

Options:

1.4,6,3,5,2,1
2.v5,6,4,1, 3,2
3.#4,06,5,2,3,1
4 %5,2,3,1,6,4

Question Number : 12 Question Id : 54592724050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forafaf@a wear &, 31&RT +1 v T foar o= &, e 1,
2,3, 4, 5 3T 6 i fTw 71v §, s &I F AT arel
IR [dhed U 310 & T&AT3T & 39 Aol &l I
iR 3TERT F TN IRUT &I, Uk HTLF Asg FAT0|

|G NHAC
123456

Options:

1. = 4,6, 3, 5, 2, 1
2.v 5,6, 4,1, 3, 2
3. = 4,6,5, 2 3,1
4. = 5, 2,3, 1,6, 4

Question Number : 13 Question Id : 54592724051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Suman is older than Rashmi. Geeta is younger than Rashmi.
Pinki is older than Suman. Who is the eldest of them?

Options:

1. v Pinki
2. % Suman
3. = Rashmi
4, = Geeta

Question Number : 13 Question Id : 54592724051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gqHe, IRA @ 37 & w31 &1 far IRE |/ oI &1 Tk gAe |
dar &1 3od § T&H F8T7 il &7

Options:

1. v TOehT




2. = gA
3. = gH
4. = 3T

Question Number : 14 Question Id : 54592724052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Each of the seven persons —Arun, Rahul, Sunil, Rajesh, Kapil,
Lala and Thomas — is from a different profession among
lawyer, IAS, engineer, professor, scientist, journalist and
architect. We also have the following information about them.

(1) Either Arun or Sunil is the IAS.

(11) Neither Sunil nor Lala is the engineer.
(il1)Rahul is either the lawyer or the professor.
(1v) Rajesh is the scientist.

(v) Kapil is either the architect or the lawyer.
(vi) Thomas is either the IAS or the architect.

Which of the following is the correct pair of the person and
his profession?

Options:

1. = Sunil — Journalist
2. v Lala — Journalist
3. » Kapil — Professor
4. = Arun — Architect

Question Number : 14 Question Id : 54592724052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



mmﬁﬁm-m,@,w,mr,ﬁﬂ,
STl 3T ATAF - Ueh & HeI91-37el9T Tehldl, HSUTH, Sl
MEAT, AT, TR AT TEIFR &l AR I 3 g A
GG RS IGEI R -]

(i) 9T T 3E0T AT Hellol HSTTH B

(i) o o eirel 3T o & effell Seilfara?
(iii) T@ﬂmﬁﬁm%mml

(iv) Trater JATfeTh &1

(v) el I7 O GRJRR AT Fehlel B

(vi) JTAE IT AT JSUCH AT TETRR B

TrafelET # & Hia-aT sgiea 3 3qeh de 7 Far Sisr §7

Options:

1. = ~{:|:a1r\I01 - UAh

2. ¢ ©ollell - Ydh{
3. % Shidel - TIhEY
4.%3-1‘50T—EI'R'T:IDW

Question Number : 15 Question Id : 54592724053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Dates of birth of some person are given below. Find out the
date of the youngest person:

a.12.08. 1901
h. 13.09.1901
¢. 19.06.1901
d. 20.02.1901
e. 22.03.1901
f. 20.01.1901

Options:

1. g
2.¢vDb
3. % ¢
4, % C

Question Number : 15 Question Id : 54592724053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

F SUladl & Sed 1 A adr & 75 & qod KA 57 F
gfFd FT IRIE AT SIS0

12.08. 1901
13.09.1901
19.06.1901
20.02.1901
e. 22.03.1901
f. 20.01.1901

Options:

0O o0 T o

1. = g



2. v b
3. % e

4, = ¢

Question Number : 16 Question Id : 54592724054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arav, Bhasker, Krishna, Daksh and Emin rent a racing bike
for a ride at most two of them can ride the bike at a time.
Also, they can take three rounds of the bike in all such that
Krishna and Arav always ride the bike together, whereas
Daksh and Bhasker never ride togheter. Emin rides it in the
second round and Bhasker rides it in the last round. If no
person can ride more then once, who rides alone?

Options:

1. = Daksh
2. » Bhasker
3. v Emin
4. = Krishna

Question Number : 16 Question Id : 54592724054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T, HIERT, 0T, &7 AT TR Uk IR g e W
Jd &, Uk I H, 3AH T TARICT g, S5k hl JaRT T ohd
&1 ST 3TET, T T8k & did dFhd ol Hehdd &, oF Tk
oo AT 3T FAAT T H 15 T HANT L &, e G&
AR AERT FHT Y Tk G AET T &1 TR 39 gEY 1138
7 3 9T AT U35 & Torrar §1 I 5 off safda o=
O 3Tk I GaRT AT T GohdT &, dl kel GaNRT hisl HIAT
&7




Options:

1. = G&F

2. % HATERT
3. v UfA
4. = UM

Question Number : 17 Question Id : 54592724055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pointing to the lady in a marriage function, Anita said, ‘She is
the sister of the father of my mother’s son. Who is the lady to
Anita?

Options:

1. = Sister
2. v Aunt
3. = Niece
4. = Mother

Question Number : 17 Question Id : 54592724055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk TdaTg GARIE H Uk HAfgell ahl 3T FUART hld gu, KGRI
o gT, a8 A AT F YT & Uar k1 58 &1 g8 Afgell, =il
HT FieT &7

Options:

1. = Sgd

2. v 3T
O

3. % HdIET

Wt

4. = HI

Question Number : 18 Question Id : 54592724056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the question below, there are two statements followed by
three conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:
I. All Bowler are Batsman.
II. Some batsman are Wicketkeeper.

Conclusions:

I. Some Batsman are Bowler.

I1. Some wicketkeeper are Bowler.
III. Some wicketkeeper are Batsman.

Options:

1. = If only conclusion I is true

2. = If only conclusion II is true
3. = If conclusion I and II follow.
4. v If conclusion I and III follow.

Question Number : 18 Question Id : 54592724056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A U 310 T A g YU« 3T 394 915 diel vy U e
gl 3Tl €T 9T FYUel hl oI HIdoT & Hel &I d gaard
Jeat & fiea wdia 21 & Tl fasewt & afer e o=
Fifew o fow oo foshst & @ @l a1 Thaard 59 @ 37eperor
LT &, TR FAAT T2 FS 7 gl

o
T AcaTT TooldlaT &l

FO Sooldlol [Aehcahay &)

IGLE R

. FG SeoldTel desre &

| F& fahehmR desrst
Il. $& TdhehTaT Fealarst &

Options:

1. % Iig Fhael @chy | TcT &
2. « gL gl Tashy || T &



3.« I AT ooany | AT Il T &
4. v I fashy | 337 1l I &

Question Number : 19 Question Id : 54592724057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, there is a statement followed by
two courses of action, numbered I and II. You have to assume
everything in the statement to be true to decide which of the
two suggested courses of action logically follows for pursuing.

Statement:
I. Excessive use of internet is making children shy.

Course of actions:
I. Stop children from using internet.
II. Regulate use of internet by children.

Options:

1. = Only I follows.

2. v Only II follows.

3. = Either I or II follows.

4. = Neither I nor II follows.

Question Number : 19 Question Id : 54592724057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T ued AU FUT & &g g g | 3T 1| &
IR ST FUe I Tcd ATl FT dF Flell & o &5 =T a
FRdle # & Hhid AT drfehes §T & Tl &l

ik
Zelalc T AcATAF YT Tl I THAN FT ET &

FIIATTEAT :
. FTAT I Selale T 3UAET Flad T Uen|
|I. STl ZaRT $elale & 39T 9 TAIHoT|

Options:

1. = shael | 30T FIAT g

2. v Fael || TFTEIOT FIAT &

3. % AT AN | AT || 3TE0T HTT &

4. = o A | 3T & Er || a7 FIAT ¢

Question Number : 20 Question Id : 54592724058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following series.

1326, 1723, 2192, 2739, ?

Options:

1.« 3370
2. % 3360
3. % 3250
4. = 3765



Question Number : 20 Question Id : 54592724058 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Tl =T el 1 1 L

1326, 1723, 2192, 2739, 7

Options:

1. v 3370
2. = 3360
3. = 3250
4. = 3765
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Show Attended Group? :
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592724059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the given series.

28, 54, 106, 210, 418, 832

Options:

1. = 28
2. v 832
3. = 210
4. % 54

Question Number : 21 Question Id : 54592724059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&T 35 e H T 9§ AT

28, 54, 106, 210, 418, 832

Options:

1. = 28
2. v 832
3. = 210
4. = b4

Question Number : 22 Question Id : 54592724060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options:

Options:

1. = 3795
2. % 9359
3. = 5937



4. v 3745

Question Number : 22 Question Id : 54592724060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w av Jreul & O fHea {-i{se.uslfr?:lﬁl

Options:

1. = 3795
2. = 9359
3. = 5937
4. v 3745

Question Number : 23 Question Id : 54592724061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd number pair from the given options:

Options:

1. %343 :7
2.%723:9
3. 512: 8
4.v215:6

Question Number : 23 Question Id : 54592724061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev arv fasmedt & @ favA gear geR Jfw:

1. % 343 : 7
2. = 729 : 9
3. = 512: 8
4. v 215 : 6

Question Number : 24 Question Id : 54592724062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the odd numeral pair/group in each of the following
questions:

Options:

1.+ 3,9, 81

2. % 9,81, 829
3.%5,25,225
4. = 7,49, 443

Question Number : 24 Question Id : 54592724062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ul Taesiiaf@a wesll & fava wear arel I9/7 / dH7g HT

gfae:

Options:

1. v 3, 9, 81
2. = 9, 81, 829
3. = 5, 25, 225
4. = 7, 49, 443

Question Number : 25 Question Id : 54592724063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

(25, 45, 55)

Options:

1. v (40, 72, 88)
2. = (40, 72, 86)
3. = {40, 75, 88)
4. = (40, 75, 82)



Question Number : 25 Question Id : 54592724063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafel@d e 7 U 710 Aeredl & O graTeud
3TETY/eTsS/TEIT <R gﬂﬁul

(25, 45, 55)

Options:

1. v (40, 72, 88)
2. = (40, 72, 86)
3. = (40, 75, 88)
4. = (40, 75, 82)

Question Number : 26 Question Id : 54592724064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find out missing number from the following given options.

an
S

Options:

1. = 40
2. v 36
3. % 39
4 % 44

Question Number : 26 Question Id : 54592724064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foratfafEa v a1v fasredl # & o HEAT AT HIoIv|

an
S

Options:

1. = 40
2. v 36
3. = 39
4. = 44

Question Number : 27 Question Id : 54592724065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘P’ means (x), Q means (-), ‘R’ means (+) and S means (+), then
what will be the value of the following expression.

(70R2)S(28R7)

Options:

1. » 42
2. 41
3.+ 39
4 % 44

Question Number : 27 Question Id : 54592724065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘P ‘&7 Aded (%), ‘Q° &I Aded (-), 'R &I Adad (+) 3T ‘S’

HT AdS (+) &, al Ao &d sTofah T AT AT FIIT?

(70OR 2) S (28 R 7)



Options:

1. = 42
2. % 41
3. v 39
4. = 44

Question Number : 28 Question Id : 54592724066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the question given below, there is a statement followed by
two conclusions. You have to take the given statement to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statement:
J=C=T=TU=R=N
Conclusions:

I N<C

ILU=]

Options:

1. = Only conclusion I is true

2. = Only conclusion II is true

3. = Either conclusion I or II is true

4. v Neither conclusion I nor II is true

Question Number : 28 Question Id : 54592724066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A fow aTe wed H, Tk FHUAA F G af vy fow arw & |
MTUhT fCU IT0 FUe hr eI HTeToT &, Hol & I 3TH a W
AT TZAT & vy Affeaar @ 8 3T R au = & e
T FUT A H FleT AT iy dATleheh T & TFEOT FIAT &

Statement:
J=C=T=U=R=N
Conclusions:

I N<C

ILU=]

Options:

1. % haol ToishY || TcT &

2. % Fad o5y | T &

3.« I af foisahy | a7 || T &

A vad ey 3Tl T T &

Question Number : 29 Question Id : 54592724067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

5:125::11:7?
Options:

1. =121

2. % 1311
3. = 1321
4. +1331

Question Number : 29 Question Id : 54592724067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frrfe@a uea &, U a0 Jeredl A @ Tafaa 3787 / 9% /
HEIT *1 glAT|

5:125 =11 : 7
Options:

1. % 121
2. % 1311
3. = 1321
4. v 1331

Question Number : 30 Question Id : 54592724068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following diagrams best represents a
relationship among South India, India and South East India?

Options:

.. OOC
. QO

4.@?



Question Number : 30 Question Id : 54592724068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Question Number : 31 Question Id : 54592724069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given figure, the circle represents world, rectangle
represents Ocean, and Square represents River and triangle
represents island. Which set of letters represents Ocean who
are not World?

£ e

Options:

l.vg
2. % €
3. % C
4 = d

Question Number : 31 Question Id : 54592724069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



few 910 33 #, god faed 1 gfafiEeg ar §, 3ad
ASERR T UldTadcd T &, 3T ToT 1ar &1 uidieaiaed
HIAT & VT ST diT T Ufafaided HIar &1 78R FT Fid
AT d¢ ASNRER & Uidai&cd Har & oif [aed I8l &7

A D\E

Options:

1. v g

2. % €
3. % C
4., = d

Question Number : 32 Question Id : 54592724070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In following question, set a four figures forming the problem
figure and four other answer figures marked as (a), (b), (¢
and (d) is given. The four problem figure have certain
common characteristic. Select a answer figure which possess
the same characteristic.

Problem Figures

N [EE

A B C D
Options:

*~




=
b4
bo

> KD

Q>

4 =

Question Number : 32 Question Id : 54592724070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el aea &, I =T 9oaT 3MPfd H 3 AN e
i 7 (a), (b), (c) 3R (d) & *7 & fgw 77w &1 weay & fouw
AT THET H T AR [SAYar &1 38 3o 3TpTd T T
H¢ foad gATer fadwar an

u9at i

A [\a6|?
A B C D

Options:

R
1. =




Question Number : 33 Question Id : 54592724071 Question Type: MCQ Option Shuffling: Yes

-

)

Correct Marks: 1 Wrong Marks: 0.25

The second figure in the first unit of the problem figures
bears a certain relationship to the first figure. Similarly, one
of the figure in the answer figures bears the same
relationship to the first figure in the second unit of the
problem figures. You have to select that figure from the set of
answer figures which would come in the place of question

mark (?)

Problem Figures

B

et

1

Options:

2

®

1.«

L]

®)

3




Question Number : 33 Question Id : 54592724071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Weel 3TpicT o Ugel TS T GELT 3Thicl,Tgell 3Mhid & Teh
fafead Frsey TEAT &1 38T TR Sccal-3Mehia T gET i
Ueel TSI & GEY AT & Ugel Hhid Teeed TWAT & I3R!
3ccl 3R & 8¢ & 38 i T ATel HlaAT T ST TeaT
fREe (?) & Tl 9T 3w

i 2

. &)
1 2 3 4
Options:

@




2. %
&

3. %

--ilﬁwg

Question Number : 34 Question Id : 54592724072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an appropriate figure from the four numbered figures
for the place of the questions mark (?).

Question figures

X |42

Options:

%




&>

e

4 v

Question Number : 34 Question Id : 54592724072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

veal fRIge (?) & AT W 3cca 3THd F T H T 3
3THfT Tal|

e g

X |42

Options:

4
%
&>




-

Question Number : 35 Question Id : 54592724073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following questions, element (i1) is related to element
(1) In a particular way in four pairs of figures. Find out the
pair of figures in which the element (ii) 1s not related to
element (1).

EE
|8 A
nEE
MG

Question Number : 35 Question Id : 54592724073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forestfelTaa weall #, 3T & IR #A6ET & g (i) JcT () &
Ueh 9T 9hR & HMAT &1 3o 3Thid SIS T 9T oM
e/ aca (i), dca (i) § garaa 8T gl

1A
2. ¢ I S|
@ &
3. % I
i
4, = i i

Question Number : 36 Question Id : 54592724074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct water image from the given alternatives.

US91Q4M53

Options:

1.«US3docamMea



7« U29JQ4 NR3

7, N2910¢ N3

1+ N2310¢FNR3

Question Number : 36 Question Id : 54592724074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few arv et & & 3T $r G arelr i ST T AT
EAIc I

US91Q4M53

Options:

1. » USadoamee
2 » U29JQ4 NR3

3 » N2910Y W23

4 + N2310TNR3

Question Number : 37 Question Id : 54592724075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question a piece of paper is folded in the
manner shown in the question figure(s). Select the figure out
of the answer choices showing the unfolded pattern after the
punches (cut).

00 _00
00 00

X

Options:

4,@»?::21_

Question Number : 37 Question Id : 54592724075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foaaifelT@&e qeaT & Ush FETST & gohg h TRa 3THfd H el
AT Ik & AST IR—T &1 e & FI Ted Uea i c2ife aret
3ccl fashedl # & 3THId T TheT HT

0.0
0!0
]
0i0
0.0

4
Options:

Question Number : 38 Question Id : 54592724076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find out which of the figure (a), (b), (¢), (d) can be formed
from the pieces given in fig. (X).

Question figures

=y
£

Options:

2
Sp
0
>

Question Number : 38 Question Id : 54592724076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



(@), (b), (c), (d) H & HleT & 3R, 3MHIT (X) & Fo=T ST
Hehcll 87

PEERICAT]

i
=

Options:

a
SH
0
&

Question Number : 39 Question Id : 54592724077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question an unfolded dice is given . From the

given alternatives which of the following will be opposite of O
?

QO

M| U

Options:

1.« U
2.% T
3.vL
4, = M

Question Number : 39 Question Id : 54592724077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A fou v geet A, vk For g fe2T T & (fSshedt |
3T AT hIfaw foF &t a1 O & JBwlia gem?

QO

M| U

Options:

1. = U
2. % T
3. v L



4. = M

Question Number : 40 Question Id : 54592724078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A cube of 3cm side is divided into smaller cubes of side 1cm.
Find the total number of smaller cubes.

Options:

1. % 3
2.% 9
3.v 27
4 % 31

Question Number : 40 Question Id : 54592724078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 AT ST & TR " F 1 JAT T & B °al # fqoiaa
ﬁaTITErI?-IT?HEﬁ??El?I’rEﬁrghm J&AT ATT ST

Options:
1. = 3
2. = 9
3. v 27
4, = 31
General Awarenessl
Group Number : 3
Group Id: 5459271193
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Awarenessl

Section Id : 5459271193

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459271431
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592724079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of dances are performed only by
women?

Options:

1. = Dandiya and Ghoomar
2. v Glddha and Ghoomar
3. = Glddha and Jatra

4. = Jatra and Chhau

Question Number : 41 Question Id : 54592724079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eIt # & Fisd F sl T 8T Shael AfGeln3il SaRT HI
ST 87

Options:

1. = SISAT va gAY
2. v @ E'T:TEIET
3. = TRT g Smam

4. = JTET UT T3




Question Number : 42 Question Id : 54592724080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Sangeeta Sudhakar” is an important book of Indian music
written in the

Options:

1. * 2nd century AD
2. = 7th century AD

3. » 10th century AD
4. v 14th century AD

Question Number : 42 Question Id : 54592724080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT FATT H “HIllT TR Teh Hgccdqor Jeceh &, ford
# for@r = g

Options:

1. = 2&7 erdmeey &.
2. = 73T edTedr B,
3. = 10dT eraredr .
4. v 1437 odTedy B,

Question Number : 43 Question Id : 54592724081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a festival of the state of Assam?

Options:

1. v+ Rongali Bihu
2. » Onam

3. » Chhat Puja
4. = Pongal

Question Number : 43 Question Id : 54592724081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Ed # & Shid T 3TH T Hl AR 57




Options:

1.wﬁ?ﬂ3ﬁﬁ§
2. = 3NOTH
3. x B ol
4. = 9T

Question Number : 44 Question Id : 54592724082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the incorrect statement about the Red Fort out of the
following.

Options:

1. » Shah Jahan laid the foundation stone of the Red Fort in
1618

2. « It has the Diwan-e-Khas and Diwan-e-Aam

3. = The building has the engraving "If there is paradise on
the face of this earth, it is this, it is this.”

4, v The famous Peacock Throne was housed in Red Fort,
which was plundered by Nadir Shah in 1839

Question Number : 44 Question Id : 54592724082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el Tohol o R H T A & Tald FYeT T T P

Options:

1. % QMESAEl o 1618 F ol oot T g T&T

2. » 3EH SATA-U-T 3T Saa-T-311H &

3. % 3H Hdel H 3cehlvlel § "ITG 6 Y2l W Hgl T@et § ar
TeT &

4. v 9TAE AYY grde ofrer Rl & I@T =T of, o 1839 &
ATTEY Mg arT afZ=ar Terr I o




Question Number : 45 Question Id : 54592724083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the FRBM Act enacted in India?

Options:

1. = 2001
2. % 2002
3. v 2003
4. = 2004

Question Number : 45 Question Id : 54592724083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AN H UHILALTA. SATGTH #1 fhg a¥ & ore) fhar ar=r?

Options:

1. = 2001
2. = 2002
3. v 2003
4. = 2004

Question Number : 46 Question Id : 54592724084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not a quantitative monetary policy
tools?

Options:

1. » Repo Rate

2. * Open Market Operations
3. v Moral Suasion

4. = Cash Reserve Ratio

Question Number : 46 Question Id : 54592724084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



g & O sia a1 aRATcas F\ifgs AT Iy J38T
&7

Options:

1. = AT &I

2. = T ST I fshame
3. v dfds @

4. = sihe, T Hegare

Question Number : 47 Question Id : 54592724085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following methods can't be used to calculate the
GDP of a nation?

Options:

1. = Product method

2. » Income method

3. = Expenditure method
4. v Tax Method

Question Number : 47 Question Id : 54592724085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordiT IS¢ T Hehel TS 3cUTE T I0MAT Flal F foIT
@ # @ g BT &7 39T F87 T ohd &7

Options:

1. = 3curg fafer
2. = 3T [afr
3. = =g fafyr
4. v &L T

Question Number : 48 Question Id : 54592724086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The Magnetic Declination is highest at the

Options:

1. = Equator

2. = Tropic of Cancer

3. v North Pole

4. = Tropic of Capricorn

Question Number : 48 Question Id : 54592724086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

FEehIy feeTe W god s gar gl

Options:

1. » fayad ¥@m
2. ® heh IJT
S.Jﬁﬁ'%ﬁ'
4, = FRT I@T

Question Number : 49 Question Id : 54592724087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following food articles is correctly matched with
its molecular formula?

Options:

1. = Baking Soda - NaCl
2. = Salt - CH,COOH

3. v Table Sugar - {212H22{)11

4. = Vinegar - NaHCO,

Question Number : 49 Question Id : 54592724087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

[Fllad # & Sia d7 @y 3(9a 3M0Tidsh g7 § Far &1 &
faem gam &7




Options:

1. % SfRar AT - NaCl
2. = @aor - CH,COOH

3. v ¢dol PN - (312H22011

4. » AT - Ncho3

Question Number : 50 Question Id : 54592724088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a characteristic of leucocytes?

Options:

1. = They are the most abundant of all the cells in blood

2. * These are devoid of nucleus in most of the mammals and
are biconcave in shape

3. v These are colourless due to the lack of haemoglobin
4. = These have a long life span

Question Number : 50 Question Id : 54592724088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFATe=aT # & Fid &1 eghdaree Fr faeyar g2

Options:

1. % Ig e AT RIRF3T & G6&IT # ad JA+ gdr o
2. = TTHR TITUTRAT HT YPIATZC & FIUHT H Sgeh
gl THerd & 3T Saehr 3TRld JeRATadd (STgehleahd) Bldl &
3. v BIAFSe & HT & HRUT IJg Teld &

4, = UE oFS TAT Tk SAndd Ed ©

Question Number : 51 Question Id : 54592724089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




You are on a train and you want to have some tea. Since you
are very concerned about the environment and hygiene both,
then in which of the following cups would you have your tea?

Options:

1. = Disposable plastic cup
2. * Kulhad (Disposable clay cup)

3. » Reusable plastic cups which has to be returned to the
vendor

4. v Disposable paper-cups

Question Number : 51 Question Id : 54592724089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Uk g7 H & 3N 3T T der TEa &1 I 3T ogieer
ﬁTE@?ﬁ@ﬁ%@ﬁﬁﬁgﬁ%ﬁﬁ%ﬂTW%ﬁﬁ@ﬁ
A8 T F7 7 39aT I Tea?

1. = TSIl TolliEcsh Y

2. » Fogg (TR & qm)

3. * Yel: WIS TATEsh & T Sl WR-Tashel T aTod el
gl

4. v BEOAed 99T F9

Question Number : 52 Question Id : 54592724090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the H in the acronym WASH (of UNICEF) stand for?

Options:

1. = Heat
2. * Homes

3. v Hygiene



4. = Housing

Question Number : 52 Question Id : 54592724090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aR@uil ersg WASH (UNICEF &) & H T 0T 9 1 87

Options:

1. = FGHT

2. » BlFE

3. v BISaild

4, = 3T

Question Number : 53 Question Id : 54592724091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following chemicals is not added during the
purification of raw-water for obtaining drinking water?

Options:

1. = Ozone

2. » Chlorine

3. = Soda ash

4. v Calcium Carbonate

Question Number : 53 Question Id : 54592724091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT A & Sid IOr T 9TSTd UTvd el & ol shed
qTeT T AR F NI T ST SN 87

Options:

1. % 3Tllel
2. % Follilel
3. = JIaT ver

4. v FTeemH FElac




Question Number : 54 Question Id : 54592724092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following will fall under the category of physical
contaminants of drinking water?

Options:

1. = Pesticides
2. » Bacteria
3. = Cesium
4. v Soil

Question Number : 54 Question Id : 54592724092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafolad # & Sid el & 9l & #Hifdss @gy H1 A A
HTTIT?

Options:

1. = FITATR
2. » Sfraroy
3. » diferad
4. v AT

Question Number : 55 Question Id : 54592724093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following diseases is/are caused by virus?

Options:

1. v SARS only

2. = Acne only

3. » Sleeping Sickness only

4. = SARS, Acne and Sleeping Sickness

Question Number : 55 Question Id : 54592724093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forafafaa & & sl €@ AT 9] & FRoT gr 7

Options:

1. v had UTH.UAHR.TH. (91H)

2. » hael HgW
3. = el faegrel =g
4, » TH.C.IR.OH. (Gr49), EW 3R i‘;‘|¢a|aa| U

Question Number : 56 Question Id : 54592724094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, identify the tributaries of the Indus
river:

Options:

1. = the Dibang and the Lohit

2. v the Zaskar, the Nubra, the Shyok and the Hunza
3. = the Chambal, the Betwa and the Son

4. = the Purna, the Pranhita and the Wardha

Question Number : 56 Question Id : 54592724094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev a1v kel & &, [y o1dry Fr Tgrd oAl HT ggem wi:

Options:

1.« feEmer 3R afga

2. v SIEHRT, T, AF AR gl
3. = T, Sdar A gGie

4. = oI, yrorigar 3 gy’

Question Number : 57 Question Id : 54592724095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following arrangements of the peaks in
ascending order of their heights is correct?

Options:




1. v Gurla Mandhata, Namcha Barwa, Annapurna, Dhaulagiri,
Kanchenjunga

2. » Gurla Mandhata, Annapurna, Namcha Barwa,
Kanchenjunga, Dhaulagiri

3. » Kanchenjunga, Gurla Mandhata, Namcha Barwa,
Annapurna, Dhaulagiri,

4. = Dhaulagiri, Gurla Mandhata, Namcha Barwa, Annapurna,
Kanchenjunga

Question Number : 57 Question Id : 54592724095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et @a TIfedT T 3okl FTSAT o IRIGT vH H TTEAd
FY O TEY cTaEAT HiFTdr gei?

Options:

1. v IET HAFAYTAT, FHTT ST, Heaqull, GIelERT, FHelelora

2. » LT HALT, HeoTqUIT, STHIT SIET, sdeleial, dlefaT
3. % HgeToldT, I HTTT, FHTAT ST, HeoTqor, diemERT
4. % GeITENT, Il FATTCT, oTH T ST, HeaTqUTT, HeToldN

Question Number : 58 Question Id : 54592724096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not a factor that affects the
distribution of temperature of the ocean-water directly?

Options:

1. = Unequal distribution of land and water
2. = Prevailing wind

3. = Ocean currents

4. v Coriolis effect

Question Number : 58 Question Id : 54592724096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafeli@d & & Sl A1 OAT FRF 6T & S FHG-STT -
dTIATT & TaLor I AT THTST il §7

Options:

1. % off# 3R UTelr T 3THAT TIeol

2. = gdldd 9dd
3. » ABRMERPRT 9RIV
4. v RINTET T9T

Question Number : 59 Question Id : 54592724097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following soll is rich in lime, iron, magnesia and
alumina, contains potash, but lacks in phosphorous, nitrogen
and organic matter?

Options:

1. = Alluvial soil
2. » Arid soil

3. v Black soil

4. = Laterite soil

Question Number : 59 Question Id : 54592724097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fower & & hlerell Ferst & T, oflg, Heeferar qur Yeffdar &
docd ST ATIT H 9T AT §,olfehel S HIERUT, dATScioled
AT ST ggryt 1 FAT BT &7

Options:

1. % STl Hel

2.*3;@313’[

3. v FTel Hal



4. = o3 Har

Question Number : 60 Question Id : 54592724098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

According to the Census 2011, find the incorrect statements
out of the following.

Options:

1. = The population density of India in the year 2011 was 382
persons per sq. km

2. v India has the highest population density in the world

3. = The number of ‘million plus cities’ in India have already
crossed 50 by 2011

4. = The total population of India is 1210.6 million

Question Number : 60 Question Id : 54592724098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

2011 T STIN0TAT F 7TAR, fdFaleli@a # & aTod Foa
AT IS0

Options:

1. = ¥ 2011 A HART T ATTEAT FT Gaicad 382 =T=od dia
gt ToRAT 2T

2. v TJeg A HaIdes JTJIdEAT Hdcd AR FT &

3. = oRa # (TAfege o @) Afea @ 319w
e T TEAT A 2011 F Ugel & 50 IR T Tl &
4. » AT I Fo SFaaEar 1210.6 AP &
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Edit Attended Group? : No
Break time: 0
Group Marks: 20
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Number of Questions: 20
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Section Marks: 20
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592724099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following countries shares its borders with the
state of Sikkim?

Options:

1. = Bhutan and Nepal only

2. » Nepal and China (Tibet) only

3. = China (Tibet) and Bhutan only
4. v Bhutan, Nepal and China (Tibet)

Question Number : 61 Question Id : 54592724099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafe@a # @ ia ar o1 RBieeda T & T H9ar
ATATT TS Rl &7

Options:

1. = had #grel 3N dure




2. % had oqTel 3 T (Tdsad)
3. = hao el (fdssd) 3 sere

4. v #gTel, sivrel 3R AeT (Tdssa)

Question Number : 62 Question Id : 54592724100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following states is the ancient Indus Valley
site of Dholavira found?

Options:

1. v Gujarat

2. = Rajasthan

3. » Maharashtra
4. » Haryana

Question Number : 62 Question Id : 54592724100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GITdRT FT U=l [y =nel el feeafeli@d & @ foa U=
T fAeT?

Options:
1. v ST
2. = ToTEdTd
3. * HENTSg
4. = A0

Question Number : 63 Question Id : 54592724101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

During the 15608 which Mughal emperor had the fort of Agra
constructed with red sandstone quarried from the adjoining
regions?

Options:

1. = Babur



2. v Akbar
3. » Shah Jahan
4. = Aurangzeb

Question Number : 63 Question Id : 54592724101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1560 & ek & NI, fohd HaTel THC of 3EIE & &1 |
ST AT olTe ST 3T U2 & T2 HPRT & Tohel &7 ToATOT &Rar
77

Options:

1. = STET

2. v 3haT

3. = &SI
4, = FRETAT

Question Number : 64 Question Id : 54592724102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about Indian textile is
incorrect?

Options:

1. = The first cotton mill in India was set up as a spinning mill
in Bombay in 1854

2. * The Charkha was put at the centre of the tricolour flag of
the Indian National Congress adopted in 1931

3. v The tanti weavers were famous textile-workers of South
India

4. = The Indian textiles failed to compete with the British
textiles in the American markets

Question Number : 64 Question Id : 54592724102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



RO FU2 & gR) A fraei@a & @ siad a1 s aed
&7

Options:

1. * HRd H Ygel hURT o hRMETa h] TATIAT 1854 H s
H FdaeeR @l & T H @l a5 T

2. » 1931 H YAV 9T ARG T HET & 0l 518 o
chg H TLE T TFT I=T AT

3. v dICT gefehd ST&T0T TR & Uig $HusT-Asigl &

4. » HNOT gET AN IRy & [feer gear & @
gfaraaT Fa H [TFher B

Question Number : 65 Question Id : 54592724103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about the Indian social
reformers and their major contribution is correct?

Options:

1. = Raja Rammohan Roy used the ancient texts to suggest
that widows could remarry

2. = Jyotirao Phule was based in Bengal and worked for the
abolition of sati

3. = Ishwar Chandra Vidyasagar established schools for girls
in Maharashtra

4. v Henry Vivian Derozio was one of the first Indian
educators to disseminate Western learning and science
among the young Indians

Question Number : 65 Question Id : 54592724103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AR FATST FURhT 3T 3eTeh TAE AR & aR H
AT ™d H & i AT H2Uel ol &7

Options:

1. = oIl TAAGT T o UTel JLAT T 39T I§
goa 3o & fov fonam for fouame qafdarg T gl &

2. » SAIT Fol ST A & TG Tl T 3eHolel & v F1H
forT

3. » 3eaT Uy HeIMNEN  of AGRISE H w3fhal & folv Thel
Tarioa forw

4. v gl Tafager SUTSIET AT IR & 9ieasT 8T 3T
ot &7 TR = arel 9UH RO e # 8 e O

Question Number : 66 Question Id : 54592724104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why did Gandhiji decide to call off the Civil Disobedience
Movement in 19317

Options:

1. * He was shocked by the level of violence that happened at
the Chauri Chaura Massacre

2. = Due to large scale police repression the movement had
lost its momentum

3. * The main leaders — Jawaharlal Nehru, Mahatma Gandhi,
Subhash Chandra Bose were put in jail

4. v Gandhiji had signed a pact with Lord Irwin

Question Number : 66 Question Id : 54592724104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IMATST o 1931 & AT 3T AT TSielel 8¢ hla T Hell
FAT TRar?




Options:

1. = ﬁﬁﬁuﬂwﬁ?%ﬁ#mﬁaﬁgﬁrﬁ
2. « u3 YA 9T Gfel AT s FNOT 3Melelel el ITfcr ZN
ThRT AT

3. » HTY AT - SIATEIeTd AgF, AECAT T FY < S
T STel H BTol T&IT AT 2T

4. v IMAST o oS SdeT & 1T Uk FHSATT T EATET
T o

Question Number : 67 Question Id : 54592724105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following events in the Indian National
Movement doesn’t match with the year in which they
happened?

Options:
1. * Mahatma Gandhi decides to launch a nationwide
satyagraha against the proposed Rowlatt Act - 1919

2. » The Congress adopts the Non-Cooperation programme —
1920

3. v Simon Commission arrives in India — 1927

4, = Lord Irwin proposed for a Round Table Conference to
discuss a future Constitution — 1929

Question Number : 67 Question Id : 54592724105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RO T 3ared # faFroiEad # & Sl d7 oear 39
Iy & HIY Al gl T & A T g A7

Options:




1. = HSICHAT M o gEarda Jele Tae & [&eh Tk
TSI TG UF Flel w1 Haenm fhar - 1919

2. % 3TEANET FRISH I FET o ATa=AT- 1920
3. v UBHA FARNG AR H 3=™T - 1927

4. = W5 {del o HAsT & LAY W Tl & [olT T
IMeTAST TFAeeT T UEd@ &3 - 1929

Question Number : 68 Question Id : 54592724106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the following options choose the person who is a
famous journalist in India?

Options:

1. = Taslima Nasreen

2. = Kailash Vijayvargliya
3. v Prannoy Roy

4. » Harmanpreet Kaur

Question Number : 68 Question Id : 54592724106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farfofaa fAeedl & @ g =afdd g S 9T & v g
CEEac Y

Options:

1. =  OHNAT aailel
2. % Shollel TaoTga@eir
3. v WURT 3T
4

. % ELHAWIT HIT

Question Number : 69 Question Id : 54592724107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



(1) has recently been honoured with the (i1) Award
in 2019.

Options:

1. = (1) Balwant Moreshwar Purandare, (ii) Bharat Ratna
2. = (1) Pranab Mukherjee, (i1) Padma Vibhushan

3. v (1) Bhupen Hazarika (i1) Bharat Ratna

4. = {1) Nanaji Deshmukh, (ii) Padma Vibhushan

Question Number : 69 Question Id : 54592724107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(i) S BTl & & 2019 & (i) TERR |
FATId ToRaT 1T &1

1. = (i) Seldd AR e, (i) ¥R Tea
2. = (i) o FE , (i) o5 faEmoT

3. v (i) HUeT SATRHT (ii) ¥R T

4. % (i) =Trersir derH@ (i) I fasqyor

Question Number : 70 Question Id : 54592724108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Narendra Modi has been has been presented with the ‘Order
of the rule of Izzudeen’, which is the highest honour on a
foreign national in?

Options:

1. = UAE

2. v Maldives
3. = Mauritius
4, = Malaysia

Question Number : 70 Question Id : 54592724108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



g HIET T 'Fooldlel & T o 3aer YEdd foam a3 &, 98
frg 2or & vk (el amies 9w a@afca gFATT &7

Options:

1. *  ollsds 31T AR
2. v AT
3. » HNEE
4. = HlRT

Question Number : 71 Question Id : 54592724109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following books is correctly matched with its
author?

Options:

1. = Oliver Twist - Daniel Defoe

2. v The Adventures of Tom Sawyer - Mark Twain
3. = Robinson Crusoe - Charles Dickens

4. = The Da Vinci Code - Robert Frost

Question Number : 71 Question Id : 54592724109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafli@d & @ &l A1 geaeh T [Aelle 30a ol d g
T & Tohar amaT &7

Options:

1. = 3ffelaY feaee - STager 3wl
2. v & UZaad 3G 1A ERF - ATH ad
3. » Tdede FHA - Ao Shd
4. = g 31 &= #I5 - e wiee

Question Number : 72 Question Id : 54592724110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



This institution was established in India in the year 1935 and
its headquarters was originally in Kolkata, but was then
shifted to Mumbali.

Who is the present head of this institution?

Options:

1. = Viral Acharya

2. = Urijit Patel

3. » Raghuram Rajan
4. +» Shaktikanta Das

Question Number : 72 Question Id : 54592724110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

%Wm@rwmﬁa&@%ﬁgﬁﬁrm
SHhRT ATATOT Hol T & FHlolehrcl # T, olfehel T 58 Ho$ TAETRT T fem =

| 36 HEAT & TAATA YHE Fidl g7
Options:

1. = GRS MERT

[ i Y
2. & 3Told 49dd

3. % CETH Tole

4. v eiSdeRidr ¥

Question Number : 73 Question Id : 54592724111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Alfred Nobel, the person after whom the Nobel prize has been
named is also known as the inventor of the

Options:

1. = Steam Engine
2. = Electric bulb
3. v Dynamite

4. = Automobiles



Question Number : 73 Question Id : 54592724111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3eIRS Aldel, T8 ShiFd Tolelsh ATH W aAldel WERR feam ar=n

T IEGED & @SR & §T H A7 T ST &1

Options:

1. =  TH Zolal

x  Zolldeh dod

2.
3. v SHIAHATSC
4,

x  HaAES e

Question Number : 74 Question Id : 54592724112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following articles of the Indian Constitution
provides for the definition of “Money Bills”?

Options:

1. = Article 108
2. v Article 110
3. = Article 112
4. = Article 114

Question Number : 74 Question Id : 54592724112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AiTuTel & farafelad & @ el AT 3Helede " e
Fdges" T INHATYT W FIaTr &7

Options:

1. = 3fqfwog 108
2. v e 110
3.« 3eToa 112
4. = 3e[eoe 114




Question Number : 75 Question Id : 54592724113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct statement out of the following with
regards to the Right of Children to Free and Compulsory
Education (RTE) Act, 2009.

Options:

1. = It came into effect in the year 2012

2. = It provides for the admission, attendance and completion
of free and compulsory education by all children in the 6-18
years age group

3. = It inserted the Article 21A in the Indian Constitution

4. v ‘Compulsory education’ casts an obligation on the
appropriate Government and local authorities

Question Number : 75 Question Id : 54592724113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

q<dr
I fal: ook 3T 3oy e 1 iR (3R srfafags,
2009 & oy H fAFIai@d & & Far e |

Options:

1.« Jg a¥ 2012 H @9] 3

2. = g
186&3{@6??%@ sal & T %Wmﬁﬁaﬁﬁrmﬁﬁuqmr,mﬁmﬁrmwmm%

3. * BHS WRAM @fqure 7 3feae 21A STer
4, v ‘HTary €T, ScaierRl TR 3R T&g
HTIRFRET W T gIR-cT sToar &

Question Number : 76 Question Id : 54592724114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following was introduced in the Constitution
through the 91st Constitutional Amendment Act (2003)?

Options:



1. v Council of Ministers shall not exceed 15 percent of total
number of members of the House of the People (or Assembly,
in the case of the States).

2. = Right to Property deleted from the list of fundamental
rights.

3. = Voting age reduced from 21 to 18.
4. = Introduction of Panchayati Raj by addition of Part IX to
the Constitution.

Question Number : 76 Question Id : 54592724114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & @ g
AaaeT & 91 § §auUTaler Tenyd JTAT@=d (2003) & ATEIH & ULr TR aram o417

Options:

1. v #ARYIRYEG & TESEAT I T&AT dlh T

(IT TS F ATHS F UG HT Fol TEAT A

15 gfqerd & 3ifas &0 g

2. %

3. = e FT 37 21 § geH 18 €%

4. = AUl # AET X & 3 & GG Tl HT GEATdAT|

Question Number : 77 Question Id : 54592724115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the incorrectly matched members of Independent India’s
Cabinet with the portfolios they held.

Options:

1. * Maulana Abul Kalam Azad — Education

2. = Jawaharlal Nehru — External Affairs and Commonwealth
Relations

3. = Dr. B. R. Ambedkar — Law



4. v Vallabhbhal Pate] — Food and Agriculture

Question Number : 77 Question Id : 54592724115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FIdT HRT & AHST & Iod ik &
Hemer TFT 310 IEEaT ST 39 [QHEN & A1 &< ST 3 99 24

Options:

1. % Hiemar 37l FoTH 3T - oreqT

2. = SIATEleld g% - Tdeel AFTed 3N UScHASS oy

3. = EL. 9. 3. 3{FEEHhT - FTelel

4. v ToolH HS Yol - WY 3 FHi

Question Number : 78 Question Id : 54592724116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(1)___ 1s the captain of the Indian women’'s (ii)____ team
presently.

Options:

1. = (i) Anjum Chopra (11) Cricket
2. = (1) Harshdeep Kaur (i1) Hockey
3. = (1) Rani Rampal (i1) Football

4. v (1) Vahbiz Bharucha (ii) Rughy

Question Number : 78 Question Id : 54592724116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

()  odd\e & ard afgemst & () &F Fr Fede
.y

Options:

1. « (i) 3is ST (i) frdhe
2.« (i) B9EIT FIT (ii) T

3. = (i) TeIT AT (i) Heaid



4. v (i) argleer 7&ar (i) @ar

Question Number : 79 Question Id : 54592724117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following games was invented in India?

Options:

1. v Chess

2. » Football
3. » Hockey
4. = Cricket

Question Number : 79 Question Id : 54592724117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H e ad A O R T T ATASRR hAT =T AT?

Options:

1. v elddal

ot

x  Thadlol

2. %
3. = @IehT
4. % Tohehe

Question Number : 80 Question Id : 54592724118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The FIFA World Cup 2018 was held in (1) and the FIFA
World Cup 2022 will be held in (1i) :

Options:

1. = (1) Brazil, (ii) Russia

2. v (1) Russia, (11) Qatar

3. = (1) Japan, (11) South Africa
4. = (1) Spain, (i1) Qatar

Question Number : 80 Question Id : 54592724118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HIRT faeg w9 2018 # (i) H 3mAoTa oRam =T ar
T wrer e F9 2022 #F (i) H T R
ST |

Options:

1. = ()sTeier, (i) 9
2. v (i) &, (i) +H
3. = (i) ST9T, (i) ZT&OT 37hTRT
4, = (i) T, (i) FAT

Arithmetic Abilityl
Group Number : 5
Group Id : 5459271195
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459271195
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271433
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592724119 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

DIRECTION: What should come in place of the question mark
(?) in the following question?

34x4-12x3
62+/196+112
Options:
40
1 ® 121
36
2. % 171
14
3.8 111
40
4 o 171

Question Number : 81 Question Id : 54592724119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forcer: Tedlell@d e & U@ eg (?) o T 9T F41
AT ATRT?

34x4-12x8
62+196+112
Options:
40

1. &= 121

36

2w 1



14

3. % 171
ﬂ
4. «» 171

Question Number : 82 Question Id : 54592724120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What value will come in place of question mark (?) in the
questions given below?

1/0.081 x 0.324 x 0.4096 =?
Options:

1.+ 0.103
2. % 0.205
3. %0175
4. = 0.192

Question Number : 82 Question Id : 54592724120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFAT T Tal # yeadrdas e (?) o TA 9T FAT Al
TQaT?

v/0.081 X 0.324 X 0.4096 =?

Options:

1. v 0.103
2. = 0.205
3. = 0.175
4. = 0.192



Question Number : 83 Question Id : 54592724121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

314 12=7
2 4 8

Options:

1. = ?a

Question Number : 83 Question Id : 54592724121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T e # wReaaes Neg (?) & TATH UT FAT 3T

Sl

2l A
2 - g

Options:



Question Number : 84 Question Id : 54592724122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

i i 3
8+2-—5-+=

2 2 2
Options:

1. =

Question Number : 84 Question Id : 54592724122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T wesT H weeTares g (?) & TUTT UT FAT 3Te]

aqTigT?

§+20_5+12
2 2 2

Options:

Question Number : 85 Question Id : 54592724123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

225+63x25+5-8=7

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 1297
2. 1298
3.1295
4. 12390



Question Number : 85 Question Id : 54592724123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATt T U2sT H Uelardes eg (?) & TUTT 9T FAT 3HTa]

AT

225 + 63 x 25 + 5 -8 =7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 1297
2. 1298
3. 1295
4. 1290

Question Number : 86 Question Id : 54592724124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

2000 + 5000 - 600 (2x 5) = ? x 500

Options:

1.% 3
2.v 2
3.% 5
4. %6

Question Number : 86 Question Id : 54592724124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T wesT H weeTares g (?) & TUTT UT FAT 3Te]

aqTigT?

2000 + 5000 - 600 (2 x 5) = ? x 500

Options:

1. = 3
2. v 2
3. # 5
4. = 6

Question Number : 87 Question Id : 54592724125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference of minimum and maximum 3 digit number

which is exactly divisible by 24 and 36:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1.144
2. 692
3. 792
4.576

Question Number : 87 Question Id : 54592724125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sgaTcTH 3 MTARATA 3 37ehT T FEATHT T AT S fo 24
3 36 & foeser femsy &:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 144




2. 692
3. 792
4. 576

Question Number : 88 Question Id : 54592724126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Total Number of prime factors of 540 are:

Options:

1. = 15
2.v 24
3. % 16
4 % 21

Question Number : 88 Question Id : 54592724126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

540 & Fel T UTAEST T TEAT &:

Options:

1. = 15
2. v 24
3. = 16
4., = 21

Question Number : 89 Question Id : 54592724127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the least natural number that should be added to 26177
to make it divisible by 8.

Options:

1.1
2. % 3
3.% 5



4, 7

Question Number : 89 Question Id : 54592724127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9% BT T DI Thias TEAT AT H BF 26177 H Siisa
T 9o &A1 8 § [ THE Fwrfera g

Options:

1. % 1
2. % 3
3. %5
4. v 7

Question Number : 90 Question Id : 54592724128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following numbers is divisible by 727

Options:

1. = 11458
2. % 11244
3.+ 11448
4. = 12968

Question Number : 90 Question Id : 54592724128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao @d & & i 4 T&4T1 72 § adeag §7

Options:

1. = 11458
2. = 11244
3. v 11448
4. = 12968

Question Number : 91 Question Id : 54592724129 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

The average marks of the students of class A is 96. Some
students of class A whose average marks are also 96 are
transfer to class B and same number of students is transfer
from B to A whose average marks are 48. As a result, the
average marks of students of class A becomes 80. What
fraction of students of class A are transfer?

Options:

1
1. % 4

|

4 %

Question Number : 91 Question Id : 54592724129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

$ﬁA$GﬁTW3ﬂGﬁﬁ96%I$ﬁTA$?aalﬂﬁlﬁ
AT 3F AT 96 §, 3eg HET B # TUEIRGT T 1T &

T AT T&AT A BEF R B § A H TR RAT ST g,
Sierer 3T 37 48 &1 IRUMATIRT F&T A & AT &1 3dad
39 80 B SATAT &1 HeT A & BTAT T TohdelT AT TUTATeaI Ul

gl &7

Options:




B3|

Question Number : 92 Question Id : 54592724130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper gives 35 percent discount on the first shirt. On
the second shirt, he first gives a 25 percent discount and when
the customer insists, he gives an additional 5 percent
discount. What is the difference in the selling price of two
shirts if the marked price is Rs.780 per shirt?

Options:

1. » Rs.42.5
2. % Rs.44

3. v Rs48.75
4. » Rs.49.25

Question Number : 92 Question Id : 54592724130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ush FhIea Tgell E T¥ 35 Wideld 1 @ aar &1 gae o
T, I8 Ugel 25 Ufaerd #T @ &1 § 3T S A1gsh S &l
g, dr a8 3T 5 gfderd $1 g aar &1 afg uid o 3l
Aed €780 &, AT ar el & 9T Feg & &7 X &7

Options:

1. = ®.42.5
2. = ®.44

3. v £.48.75
4. = ®49.25

Question Number : 93 Question Id : 54592724131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average price of a mango, a banana, an orange and a
papaya is Rs.3 more than the average price of a mango, a
banana and an orange and Rs.5 more than the average price
of a mango and a banana. The difference between the average
price of an orange and a papaya and the price of an orange is:

Options:

1. » Rs.8
2. v Rs4
3. #= Rs.16
4. % Rs.1

Question Number : 93 Question Id : 54592724131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teh 3MTH, U hell, Uk RN 3N U qUIar &7 38 {ed T
3TH, Tk hell 3 T AT & 36 #ed & 8.3 3796 3K
T 3TH 3T TF Fel & AT Heg T & 5 31f9F 8| | Th
3T 3T gdid T 3d 1A 3R Tk ARG ST FAT &
AT T AT &7

Options:

1. » 5.8
2. v 54
3. = %16
4. = §.1

Question Number : 94 Question Id : 54592724132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When the price of wheat per kg in increased by 25 percent, a
family reduces its consumption in such a way that the total
expenditure on wheat increase by only 20 percent. If the
consumption of wheat by the family before the price
increment is 30 kg then what would be the present
consumption of wheat of the family?

Options:

1. = 27.5 kg
2.v 288 kg
3.% 264 kg
4, % 252 kg

Question Number : 94 Question Id : 54592724132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SIS 9g T hIAd g fohell 25 diderd &8 St §, dF Uk
IRAR 3761l FOd FT 36 g & FA F a1 § o g W Fel
Z g 20 Ufderd §¢ S §1 IS Ao gig d Igel IRaR
SaRT g T W 30 fheamd & a1 IRER & g FT adATT
Fqd AT BN

Options:

1. = 27.5 Terarm
2. v 28.8 Tohar
3. = 26.4 foRarm
4, = 252 Topam

Question Number : 95 Question Id : 54592724133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The price of petrol is increased by 25 percent two times. If the
price of petrol is increased by 10 percent, then by 18 percent
and then by 22 percent. What is the difference of the resulting
prices in the two cases if the initial price of petrol is Rs.120/1tr
(approximately)?

Options:

1. v Rs.2.5
2. % Rs.3.2
3. = Rs.1.8
4. % Rs.1

Question Number : 95 Question Id : 54592724133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ﬁ@w@r%maﬁaﬁm%ﬁ&m@rﬁaﬁgé@m
Oclel shl hIAT Tgel 10 UTdeld §¢ Sdr g, e 18 ufaerd ¢
ST &, 3 fhT 22 wfaerd s ST &, ar ar AtEer H
TROTTAT hIAT H AT 3T (ofreidn) & Ife UGrer T B3
FTHAT 5.120 / o1 &,?

Options:

1. v .25
2. ® 5.3.2
3. = %.1.8
4. = %1

Question Number : 96 Question Id : 54592724134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The present value of car A 1s 67.5 percent of total present
value of car A and car B. Depreciation 1s to be calculated
annually at the rate of 12 percent and 15 percent on car A
and car B respectively. At the end of two years, the total
amount of depreciation is what percent of the total present
value (approx)?

Options:

1. = 21.8 percent
2. % 23.5 percent
3. v 24.25 percent
4. = 25.5 percent

Question Number : 96 Question Id : 54592724134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FR A FT TAAT g FR A 3R FR B &F Fol TqA Hed
T 67.5 Uferd &1 Hedgrd T a0 FR A 3K X B W
AL 12 Uicerd 3T 15 ufcerd &1 g7 & 9iaay @l el gl
S avl & 3 # Hederd 1 Fel RN Fel TAAT Hed H
ELGIRIGHGRGOEENR-X

Options:

1. = 21.8 gfaerd
2. % 23.5 ufderd
3. v 24.25 wfderd
4, = 25.5 gfderd

Question Number : 97 Question Id : 54592724135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper sells three products A, B and C. The selling prices of A_ B and
C are in the ratio 6 - § : 9 respectively. He makes 28;% profit, 33;% and
35% profit on selling A, B and C respectively. If the overall profit on selling
three products is of Bs.85 Whatis the total selling?

Options:

1. v Rs.345
2. % Rs.415
3. * Rs.260
4. » Rs.320

Question Number : 97 Question Id : 54592724135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& gHWGH oW 3caer A, B 3T C d9ar 81 A, B 3R C ¥ TOwT T=4
FAI: 6: 8. 9 F IS A §1 95 wAw: A B IR C dm W 282% e,
33-% =T 3T 35% o FAGT §1 TR AW cTET F A9 T Fel o 5.85

Options:

1. v 3.345
2. = 5415



3. » %.260
4. = 5.320

Question Number : 98 Question Id : 54592724136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A machine is assembled with of two parts A and B. The cost of
A 1s 40 percent of the total cost of machine and cost of B is 25
percent of the total cost of machine. The machine is sold at a
profit of 60 percent of the total cost. If the cost of part A is 12.5
percent higher and cost of part B is 30 percent higher while
the selling price remain same, then what will be the profit
percent?

Options:

1. » 33.33 percent
2. v 42.22 percent
3. = 47.44 percent
4. = 49.66 percent

Question Number : 98 Question Id : 54592724136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh AT &1 ar e A 3R B & gty ATor foar Srar &1 A
T AT HMeT T Fel AEIA FT 40 UfATT & 3 B R oAm9Ted
mﬁ?l"cﬁl'gwi ST shT 25 widerd &1 mﬁ?rafrghm CIEIG IS
60 TTCTRIT oIs UT o<l ST &1 Ifg HeT A 3T oerd 12.5
gfererd 3T § 30T 961 B Fr orera 30 gfaerd e+ g,
STeifeh Taord Hedr AT IGT §, A o Jicierd ST gram?

Options:

1. = 33.33 yfdera
2. v 42.22 uTderd




3. % 47.44 uiJera
4. = 49.66 wfcera

Question Number : 99 Question Id : 54592724137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper by mistake marked the product at 10 percent
above the cost price and gives 40 percent discount to his
customer and incurred some loss. If the correct marked price
is 40 percent above the cost price and correct discount is of 10
percent, he gains some profit. If the loss is Rs.240 more than
the profit, then what is the cost price of the product?

Options:

1. = Rs.2000
2. » Rs.2400
3. ®= Rs.2800
4. v Rs.3000

Question Number : 99 Question Id : 54592724137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT F Ueh IR 3c9Te 1 oerd Hed 8§ 10 wfderd 3uT
R Tar & 3 379 Ageh I 40 vlderd e aar & dr
38 $ dhare glar ¢l Il wer 3fehd Jeg oed #qed 8 40
yfcrerd 38R § 3T @l ge 10 gfaerd &, O 98 F& o
OTe LT &1 AT T @ sfehdrel %.240 3fAek §, dr Icure
ETT Hed 7 §7

Options:

1. = %.2000
2. = %.2400
3. * %.2800




4. v %.3000

Question Number : 100 Question Id : 54592724138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A person wanted distribute 180 chocolates to his three sons
Sumit, Sunder and Shyam. He wanted chocolates to be
distributed among Sumit, Sunder and Shyam in the ratio of
15 : 11 : 10. By mistake, he distribute in the ratioof4:5: 6.
Find the extra chocolates received by Sunder.

Options:

1. =4
2.% 3
3.v5
1 %6

Question Number : 100 Question Id : 54592724138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk SAfFd 370a el sl AT, Fel 3N eATH 1 180 Alhele
STeaT TTgcT AT I AT AT foh diehele ST GIAT, Fel 3N
A & & 15: 11: 10. & 3equrd A fadaRd fovar Se arerdh)
H g 4 5: 6 F Ieurd A TIdRT & AT eI ZgRT Ted
FTARFT Tiehole FT IaT 97|

Options:

1. = 4
2. % 3
3. v 5
4. = 6




Arithmetic Ability2

Group Number : 6
Group Id: 5459271196
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2
Section Id : 5459271196
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271434
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592724139 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A year ago the ratio of marks of A and B was 2 : 3. The ratiocs
of the marks of last year to this year, in the case of A and B
respectively, are 3 : 4 and 5 : 7. If this year the difference in
their marks is 115, what is B's marks this year?

Options:

1. = 210
2. v 315
3. = 259
4. % 350

Question Number : 101 Question Id : 54592724139 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

sk el Ygel A 3 B & 3Rl T 3T 2: 3 41| A 3R B
% AT H el ATel & 3{hT T o[l TH T¥ & 30hI &

A 3: 4357 8| Il 39 a¥ 3aTh 3R A AT 115
g, 39 Y B & 3 FAT 7

Options:

1. = 210
2. v 315
3. = 258
4. = 350

Question Number : 102 Question Id : 54592724140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are two numbers m and n. If 4 1s added to the m and 13
is subtracted from the n, then the ratio of m and n becomes 7

4. If 2 1s subtracted from m and 8 i1s added to the n, then the

ratio becomes 5:11. Whatism : n?

Options:

1. = 15: 23
2. 11:15
3.%19:29
4. v 17:25

Question Number : 102 Question Id : 54592724140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT IV m T n &1 IS 4 FT m & FST FaT1 § AT 13 FH: i
n A AT ST &, @ m 3T n FT U 7: 4 & ST E
I 2 A m T GER—T AT & AT 8 &l n H S5 &A1 I1aT §,
T 3feqarT 5: 11. & SIar &1 m: n F34T &7

Options:




1. = 15 : 23

2. % 11 : 15
3. % 19 : 29
4. v 17 : 25

Question Number : 103 Question Id : 54592724141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Nitesh invested Rs.24000 at 15 percent per annum at
compound interest compounded annually. Ravi invested an
equal amount at 18 percent per annum at simple interest.
How much less did Nitesh receive than Ravi after three years?

Options:

1. » Rs.412
2. » Rs.463
3. v Rs.459
4. » Rs.492

Question Number : 103 Question Id : 54592724141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tolcer of |TeIelT TTehgig sATSl W 15 widerd uid ay &7 &1 ¥ .
24000 =T fader foram I & @raror st w18 ufaera ufa
g¥ Fr e O swreT qfer &1 fohger fRar die g 91 39 8
foraer =1 fohaar s THeT?

Options:

1. » %412
2. % 5.463
3. v %459
4. = 5492




Question Number : 104 Question Id : 54592724142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An amount when invested at compound interest compounded
annually at a rate of 20 percent per annum becomes Rs.24600
in three years. wWhat it become after two years at same rate of
compound interest?

Options:

1. » Rs.18600
2. v Rs.20500
3. = Rs.21300
4. » Rs.19200

Question Number : 104 Question Id : 54592724142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

20 gfcerd 9fcd a¥ T o § Tshgleg STl W aTiseh aTomer &
forger &1 Srer areir afer i ast # 5.24600 & ST &
ThgIE ST T JAS o 9T & GTT 971G g AT & STl 57

Options:

1. = &18600
2. v 20500
3. *» ®.21300
4. = ®19200

Question Number : 105 Question Id : 54592724143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Vijay borrowed Rs.7500 from two banks A and B at simple
interest. To bank A, he paid interest for two years at 5 percent
p.a. and to bank B, he paid interest for two years at 7 percent
p.a. The total interest that he paid for two years was Rs.825.
The money borrowed from A is what percent more than that
of B?



Options:

1. v 200 percent
2. = 300 percent
3. % 33.33 percent
4. = 25 percent

Question Number : 105 Question 1d : 54592724143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faorr of |TaIROT sarT W g st A 3T B & %.7500 3uR forv
& A & ToIv, 30a ar O & fow 5 ufcderd ufa a¥ r &7
T SATST T 9TcTe foham| AT dF B & ToU, 360« & @rel &
fore 7 ufaera wia a¥ fr ex W sarar f&=m 2 @rer & fow
38 Fel SUTST £.825 feaT | A & 3R form o= o<1 B &
foraar ufdera aifees g7

Options:

1. v 200 wfcrerd
2. = 300 ufaera
3. = 33.33 ufcera
4. % 25 wfaerd

Question Number : 106 Question Id : 54592724144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If Amar travels at 60 km/h, he reaches his destination at 7
p.m. and if he increases his speed to 80 kmph he reaches one
hour earlier. Find the distance he has to travel to reach his
destination.

Options:

1. * 120 km
2. = 180 km



3. v 240 km
4. = 480 km

Question Number : 106 Question Id : 54592724144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

It AT 60 TordT ufad ¢ T IFdN & AT KT &, ar a8
oH 7 ol IUel ey TATT T Hétldl gl 3T Ife ag 9ar
afa &1 80 FAT wigd o Ik dar & oF 98 U O Ugel
qé?l?—lT%’l AT FITST 38 39e 0T TAT I ‘-ié'clo:i H
forcrelr g1 aF et g3a?

Options:

1. = 120 TRaAT
2. = 180 TeraT
3. v 240 TeralY
4. = 480 TraT

Question Number : 107 Question Id : 54592724145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The distance between X and Y is 1440 km. Two persons A and
B started simultaneously from X towards Y. B took 6 hours
less than A to reach Y. Instead, if A travels at twice his speed,
he reaches Y 6 hours earlier than B. Find the speed of B (in

km/h).

Options:

1. = 56 km/hour
2. » 60 kmn/hour
3. = 64 kimm/hour
4. v 80 kmm/hour

Question Number : 107 Question Id : 54592724145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



X 3 Y & &ra Fr gfr 1440 AT &1 aF =4 A 31K B T
WX?Y%WW%IB@YWﬁA@Gﬂ%W
AT @M 38 SWTed, Tie A 3T& aTfcd & Galeir iy & 7T
mﬂT%,a’ra'erBﬁea‘-aqaﬁYqéaaThBa‘%‘r?r%(m
Ui g¢ #) A9 I

1. = 56 TorA/EeT
2. = 60 Toral/aer
3. = 64 fRANEer
4. v 80 ToRATEer

Question Number : 108 Question Id : 54592724146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A raft travels in a still water with a speed of 12 kmph while
the rate of the flowing water is 4 kmph. Find the distance
travelled against the direction of water by the raft in 15
minutes.

Options:

1. v 2 kKm
2. % 3 km
3.« 4 km
4. = 24 Kkm

Question Number : 108 Question Id : 54592724146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Th U%c 2 9rar & 12 FordAT gfar ger hr afad & A1 hdd
& STafeh dgel dTel Uil T afd 4 foRaAT Ufad =er grdr &I
3TSTYATE(UNT 1 fawdia faem &) # 15 fAsic # Uve <gny &
ST =T T AT A




Options:

1. v 2 fraT

2.
3. = 4 TRAT
4. = 2.4 TRAT

Question Number : 109 Question Id : 54592724147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X men can complete a work in 120 days. If there were 10 men
more the work would be completed in 20 days less. Find the
value of X.

Options:

1. =75
2. v 50
3. = 90
4. % 60

Question Number : 109 Question 1d : 54592724147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X g%y 120 feoll & Ush 1A QU FT Fehdd g1 3R 10 AT
3T 37T gl A STH ST QT il H 20 & AT FH Tl

X T HATT ATT HY|

Options:

1. = 75
2. v 50
3. = 90
4. = 60

Question Number : 110 Question Id : 54592724148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A group of men are building a wall. After half the wall has
been built, double the number of men join the original group.
The wall gets completed 6 days earlier than scheduled. What
is the total number of days the initial group of men would
have taken to complete the wall?

Options:

1. % 18
2. % 16
3.+ 14
4. v 12

Question Number : 110 Question 1d : 54592724148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

q&NT T Teh HHG Teh AN il @1 &1 3Tel San o St &
STe, He THE & Qe olr S[sd &1 daN f@uiita q#a 4 6
feet ggel ol & ST &1 Q1R kI U e & fov gesr &
TR THg o Fol ohdel Tl 1 @@ for gem?

Options:

1. = 18
2. % 16
3. % 14
4. v 12

Question Number : 111 Question Id : 54592724149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anil and Bharat can do a work in 20 days and 30 days
respectively. If Anil, Bharat and Chetan can complete the
same in 10 days, in how many days can Anil and Chetan
complete the work?

Options:



1. %12
2.v 15
3.% 10
4, %9

Question Number : 111 Question Id : 54592724149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mferer 3T T v F FAT: 20 RF 3 30 RF A
Thd &1 afe yfae, swa M 399 gATT =& & 10 Gar A&
[T L &,ar ferel 3 Ida FRF 1 Tovcdar &l # @1 T
Hoht &7

Options:

1. = 12
2. v 15
3. = 10
4. = 9

Question Number : 112 Question Id : 54592724150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A cylindrical can has a base of diameter 8 cm and height 14
cm. A cuboidal box has a square base of side 8 cm and the
same height as the can. What is the difference between their
volumes?

Options:

1. = 216 {:m3

2. * 196 {:m3

3.« 192 Cm3



4. = 200 {:m3

Question Number : 112 Question Id : 54592724150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh SolellehL hel Toldeh MU &7 =O1F 8 VAL 31N 3318 14

QAT §1 U gendi fSes fordeh qelTerit 3T 7 =0 8 4.
AT, & 3 3TRT 3T Fa F AT &, dl 3alch T o+ ad

T AT TohdaT §7

Options:

3
1. % 216 G

3
2. = 196 TAT
3
3. v 192 AT
3
4. = 200 AT

Question Number : 113 Question Id : 54592724151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two goats are each tied to two adjacent corners of a square
plot of side 28 m with ropes 14 m long. Find the area not
grazed by the goats in the plot.

Options:

1. = 450 sq.m.
2. » 460 sq.m.
3. v 476 sq.m.
4. = 490 sq.m.

Question Number : 113 Question 1d : 54592724151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ar FRAT H, Tcds HI 28 HeT & TR @ & ar AT
Pl A 14 A o6& TEadr | ST SIdam &1 ShiAr ganT
HWS T ofal Tlel dTell & Aol AT HIToIC|

Options:

1. = 450 sqg.m.
2. = 460 sg.m.
3. v 476 sq.m.
4. = 490 sg.m.

Question Number : 114 Question Id : 54592724152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two circles of radii 9 cm and 4 ¢m touch each other
externally. Find the length of their direct common tangent.

Options:

1. = 15 cm
2. % 20 cm
3.v12 cm
4. = 18 cm

Question Number : 114 Question 1d : 54592724152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9 WA AT 4 FAT FSAT & & g Th gAY T T FT H
ot FIa &1 3oTehr Il garATew TaeRwEr & e AT i

Options:

1. = 15 @AY
2. = 20 @AY
3. v 12 9#T
4. % 18 FHAY




Question Number : 115 Question Id : 54592724153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Pie-chart shows the result of a survey among 123060
people concerning the use of tobacco. Study the Pie-chart and
answer the question.

Other tobbaco
habits, 36

Bidhi, 90=
Mo smoking
habit, 18=

Pipe, 36°

Ciggerate, 180°

Percentage of people under survey, who do not have any
smoking habit is:

Options:

1. = 7.5 percent
2. % 10 percent
3. v 5 percent

4. = 3.2 percent

Question Number : 115 Question Id : 54592724153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



URE-IIE # JEETh T 8ael o & Hag 123060 wai &
GJ&TuT & Wt UROMA I SRITAT IR™T g1 INS-ATE Sl 3eTTqeT
HIT 3T 7oA & Ica¥ AT

FEOT T AT T3
18=

T 180-

TAeTT & 37efieT T NI T Wiaerd AT & Toeg onar o7
TR & HOT DT G ool &7

Options:

1. = 7.5 gfcera
2. = 10 gicera
3. v 5 ufaerd

4, = 5.2 gfaerd

Question Number : 116 Question Id : 54592724154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Refer the below data table and answer the following question.

Weight (ke) | Height (m)
Archita 67 1.63
Arpana 67 1.51
Arpita 57 1.56
Anmndhan 73 1.59

Who has the least weight to height ratio?

Options:

1. = Archita

2. % Arpana

3. v Arpita

4. = Arundhati

Question Number : 116 Question Id : 54592724154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 5 917 27 arfersrT & 3R W arafeiEa e T 3cR
gl

goret (freram) | 3= (#iew)
{m 67 1.63
{m 67 1.51
{ﬁ?ﬂj 57 1.56
{m 73 1.59

qotel 3N FTNF KT T[T ToheTehT Tod A &7

Options:

1. = QT
2. = 3790



3. ¢ MWar
4. = ETAl

Question Number : 117 Question 1d : 54592724155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Study the following table carefully to answer these questions:

‘Population of 6 states over the years

State

Year

A B c D E F
1992 125 210 85 150 98 138
1995 135 225 89 170 110 152
1998 142 240 23 180 130 160

2001 148 250 93 215 140 175
2004 155 270 105 230 145 190
2007 160 230 110 240 160 198

Which state had the highest per cent rise in population from
2001 to 2004?

Options:

1. = C
2. % B
3.=D
4.vF

Question Number : 117 Question Id : 54592724155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArafaf@a deall &1 3ca¥ &ot & v aEuEiyEas fAeafafd

dTTelRT T 3TeTITT FHi|

Bw 71v auf & 6 U=dr T FAEEA gaN H

=
CL
A B c D E F
1992 125 210 B5 150 98 138
1995 135 2256 89 170 110 152

1998 142 240 83 180 130 160
2001 148 250 88 215 140 175
2004 155 270 106 230 145 190
2007 160 280 110 240 160 188

2001 & 2004 TF FTEEl ﬁﬁmmﬁrﬂa’fﬁrqﬁ?aﬁ?

Options:

1. = C
2. = B
3. = D
4. v F

Question Number : 118 Question Id : 54592724156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the graph carefully and answer the following questions.

Cotton Prnductmn

i

B 1992-03[f] 1993-94 []1994-95

1818

FIT!

State

The production of State D in 1992-93 1s how many times its
production in 1994-957?

Options:

1.+ 1.33
2. % 0.75
3. = 0.56
4. % 1.77

Question Number : 118 Question Id : 54592724156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fEU I IME T AT TEH TehT 3ol o

UM JIdla-T
B 1902-03[] 1993-94 [IJ1992-95

21
1818 16
14 1 14
12 12
g 9
B

ﬁ H i

A, B C D E

Ty

T D 1 a¥ 1992-93 =T 3cUice, d¥ 1994-95 & 3cqrcel ol
frdet I &

Options:

1. v 1.33
2. = 0.75
3. » 0.56
4. = 1.77

Question Number : 119 Question Id : 54592724157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully to answer the question
that follow:

Production of Laptop of Various Companiesina

meonth
A S 1000
1000 500
200 - 500 oL
ﬂ' T T T T T 1
A B C D E F

= | it Produced

What is the average number of Units produced by all the
Companies together?

Options:

1. = 725
2. v 800
3. = 720
4. = 900

Question Number : 119 Question Id : 54592724157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = 725
2. v 800
3. = /20
4. = 900

Question Number : 120 Question Id : 54592724158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following chart carefully to answer these questions:

The following graph represents Populations (in thousands) of
the State over the years

450

440

430

420

410 -

400 -]

390 - T . T T .

2002 2002 2004 2005 2006 2007

What is the approximate average population of state for all
the years together?

Options:

1. » 425202
2. v 427167
3. % 527304
4. %= 62803

Question Number : 120 Question Id ; 54592724158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. = 425202
2. v 427167
3. = 527304
4. = 62803
General English1
Group Number : 7
Group Id: 5459271197
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group?: No



Edit Attended Group? : No

Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 5459271197

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271435
Question Shuffling Allowed : Yes

Question Number : 121 Question 1d : 54592724159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into three parts. One
of them may be incorrect. Choose the INCORRECT part from
the given options. If you don’t find any error, mark ‘No error’
as your answer.

The State governments at partnership / with the Centre, must
use the funds / to transform primary health care.

Options:

1. v The State governments at partnership
2. = with the Centre, must use the funds
3. = to transform primary health care.

4. « No error

Question Number : 121 Question Id : 54592724159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following sentence has been divided into three parts.
One of them may be Incorrect. Choose the INCORRECT
part from the given options. If you don’t find any error,

mark ‘No error’ as your answer.

The State governments at partnership / with the Centre,

must use the funds / to transform primary health care.

Options:

1. v The State governments at partnership
2. = with the Centre, must use the funds
3. = to transform primary health care.

4. = No error

Question Number : 122 Question Id : 54592724160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into three parts. One
of them may be incorrect. Choose the INCORRECT part from
the given options. If you don’t find any error, mark ‘No error’
as your answer.

The failure to get an antibiotic / if you have a bacterial
infection / can hurt you very bad.

Options:

1. = The failure to get an antibiotic
2. = 1If you have a bacterial infection
3. v can hurt you very bad.

4. % NO error



Question Number : 122 Question 1d : 54592724160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into three parts.
One of them may be incorrect. Choose the INCORRECT
part from the given options. If you don’t find any error,

mark ‘No error’ as your answer.

The failure to get an antibiotic / If you have a bacterial

infection / can hurt you very bad.

Options:

1. = The fallure to get an antibiotic
2. % If you have a bacterial infection
3. v can hurt you very bad.

4. = No error

Question Number : 123 Question Id : 54592724161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into three parts. One
of them may be incorrect. Choose the INCORRECT part from
the given options. If you don’t find any error, mark ‘No error’
as your answer.

At the end of the day, / cinema ought to helped us / recognize
characters as fellow human beings.

Options:



1. = At the end of the day,

2. v cinema ought to helped us

3. = recognize characters as fellow human beings.
4. = NO error

Question Number : 123 Question Id : 54592724161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into three parts.
One of them may be Incorrect. Choose the INCORRECT
part from the given options. If you don’t find any error,

mark ‘No error’ as your answer.

At the end of the day, / cinema ought to helped us /

recognize characters as fellow human beings.

Options:

1. = At the end of the day,
2. v cinema ought to helped us
3. = recognize characters as fellow human beings.

4. = No error

Question Number : 124 Question 1d : 54592724162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following sentence has been divided into three parts. One
of them may be incorrect. Choose the INCORRECT part from
the given options. If you don’t find any error, mark ‘No error’
as your answer.

The report tells us that / at the end of the year 2016, / there
were 4, 33,033 people in prison.

Options:

1. = The report tells us that

2. = at the end of the year 2016,

3. = there were 4, 33,033 people in prison.
4. v No error

Question Number : 124 Question Id : 54592724162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into three parts.
One of them may be Incorrect. Choose the INCORRECT
part from the given options. If you don’t find any error,

mark ‘No error’ as your answer.

The report tells us that / at the end of the year 2016, /
there were 4, 33,033 people In prison.

Options:

1. * The report tells us that



2. » at the end of the year 2016,
3. = there were 4, 33,033 people In prison.

4. v No error

Question Number : 125 Question 1d : 54592724163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into three parts. One
of them may be incorrect. Choose the INCORRECT part from
the given options. If you don’t find any error, mark ‘No error’
as your answer.

Chennai’s hope to be a global / economic hub appears to be /
considerable weak as it struggles to find water.

Options:

1. * Chennai’s hope to be a global

2. = economic hub appears to be

3. v considerable weak as it struggles to find water.
4. » NO error

Question Number : 125 Question Id : 54592724163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following sentence has been divided into three parts.
One of them may be Incorrect. Choose the INCORRECT
part from the given options. If you don’t find any error,

mark ‘No error’ as your answer.

Chennal’s hope to be a global / economic hub appears to

be / considerable weak as it struggles to find water.

Options:

1. = Chennal’s hope to be a global
2. * economic hub appears to be
3. v considerable weak as It struggles to find water.

4. = No error

Question Number : 126 Question Id : 54592724164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

When you combine smart thinking with even smarter
technology to make big changes - good things happen.

Options:

1. = good things happens
2. = good things happening



3. = good things happened
4. v No substitution required

Question Number : 126 Question Id : 54592724164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

When you combine smart thinking with even smarter

technology to make big changes - good things happen.

Options:

1. = good things happens

2. ®» good things happening
3. # good things happened

4. v No substitution required

Question Number : 127 Question Id : 54592724165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

A common hazardous waste facility is one that stores the
material in sealed containers of the ground.

Options:



1. v sealed containers on the ground
2. = seal containers off the ground
3. »= sealed containers at the ground
4. = No substitution required

Question Number : 127 Question Id : 54592724165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

A common hazardous waste facility is one that stores the

material in sealed containers of the ground.

Options:

1. v sealed containers on the ground
2. = seal containers off the ground

3. » sealed containers at the ground
4,

* No substitution required

Question Number : 128 Question Id : 54592724166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

The Superfund program was launched at response off a series
of high-profile toxic waste cases in the 1970s.

Options:

1. = in response of

2. ® response to

3. v In response to

4. = No substitution required

Question Number : 128 Question 1d : 54592724166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

The Superfund program was launched at response off a

series of high-profile toxic waste cases in the 1970s.

Options:

1. = In response of
2. ®= response to

3. ¥ In response to



4. = No substitution required

Question Number : 129 Question Id : 54592724167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

These teeth belong to animals that feed on plants, the leaves,
branches, and stems which often require a lot of chewing
before they can be digested.

Options:

1. = that often requires a

2. = often require an

3. = which often requires a
4. v No substitution required

Question Number : 129 Question 1d : 54592724167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

These teeth belong to animals that feed on plants, the

leaves, branches, and stems which often require a lot of

chewing before they can be digested.

Options:



1. = that often requires a
2. = often require an

3. = which often requires a
4,

v No substitution required

Question Number : 130 Question Id : 54592724168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

The two dozen species of crocodiles alive today inhabit lakes,
rivers, and occasionally seashores, where it most feeds at
meat and fish.

Options:

1. v they mostly feed on

2. = 1ts most feed on

3. = they mostly feed at

4. = No substitution required

Question Number : 130 Question 1d : 54592724168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required.

The two dozen species of crocodiles alive today inhabit
lakes, rivers, and occasionally seashores, where it most

feeds at meat and fish.

Options:

1. v they mostly feed on
2. % Its most feed on

3. * they mostly feed at
4,

* No substitution required

Question Number : 131 Question Id : 54592724169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

The right to a healthy environment is now considered legally
around the world.

Options:

1. v established
2. » establish



3. » establishes
4. = establishing

Question Number : 131 Question Id : 54592724169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The right to a healthy environment is now considered legally

around the world.

Options:

1. v established
2. = establish
3. = establishes

4. = establishing

Question Number : 132 Question Id : 54592724170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The state of Uttar Pradesh declared a mining ban its
rivers can recharge their sandy principal.

Options:

1. = yet
2. v until
3. = since
4. = for



Question Number : 132 Question 1d : 54592724170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The state of Uttar Pradesh declared a mining ban

Its rivers can recharge their sandy principal.

Options:

1. = yet
2. ¢ until
3. % since

4. = for

Question Number : 133 Question Id : 54592724171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

As night falls, the sky
infinity and beyond.

giving stargazers a glimpse of

Options:

1. = light up
2. = lit up
3. v lights up
4. = lits up

Question Number : 133 Question 1d : 54592724171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

As night falls, the sky , giving stargazers a

glimpse of infinity and beyond.

Options:
1. = light up
2. % it up
3. v lights up
4. = |its up

Question Number : 134 Question Id : 54592724172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The bigger mouths and fangs of the snake help them eat
larger prey their siblings.

Options:

1. = include

2. » inclusive
3. = included
4. v Including

Question Number : 134 Question Id : 54592724172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

The bigger mouths and fangs of the snake help them eat

larger prey their siblings.

Options:

1. = Include

2. % Inclusive
3. * Included
4. v Including

Question Number : 135 Question 1d : 54592724173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

In the era of global warming and climate change, Norway
the charge towards renewable energy.

Options:

1. v has led
2. % 1s lead

3. = have lead
4, « had heen lead

Question Number : 135 Question Id : 54592724173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

In the era of global warming and climate change, Norway

the charge towards renewable energy.

Options:

1. v has led
2. % Is lead
3. * have lead
4.

x had been lead

Question Number : 136 Question Id : 54592724174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

In recent years an impressive number of start-ups and
innovators new technologies.

Options:

1. = employs

2. v have employed
3. = has employed
4. = employ

Question Number : 136 Question Id : 54592724174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

In recent years an impressive number of start-ups and

Innovators new technologies.

Options:

1. = employs
2. v have employed
3. * has employed
4. = employ

Question Number : 137 Question Id : 54592724175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Hazardous waste has many sources, and a long history
dangerous pollution.

Options:

1. = for
2. % 10
3.vof
4, = at

Question Number : 137 Question Id : 54592724175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Hazardous waste has many sources, and a long history

dangerous pollution.

Options:

1. = for
2. % 10
3. v of
4, = at

Question Number : 138 Question Id : 54592724176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Toxic waste can harm people, animals, and plants,
ends up in the ground, in streams, or even in the air.

Options:

1. = if

2. % as

3. % even

4. v whether

Question Number : 138 Question Id : 54592724176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Toxic waste can harm people, animals, and plants,

It ends up In the ground, In streams, or even In

the air.

Options:

1. = |f
2. % as
3. % even

4. v whether

Question Number : 139 Question 1d : 54592724177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: Now, In a surprise to paleontologists, it seems they shared
their domain with an enormous bird that was almost 12 feet
tall.

B: The discovery, described today represents the first giant
flightless bird known to have lived in the Northern
Hemisphere.

C: Almost two million years ago, giant hyenas, saber-toothed
cats, and camels roamed across the European continent.

D: The extinct animal, weighed in at a whopping 990 pounds—
almost three times as much as its closest living relative, the
ostrich.

Options:

1. v CABD
2.« CADB
3. = BACD
4. = BADC

Question Number : 139 Question Id : 54592724177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: Now, In a surprise to paleontologists, it seems they
shared their domain with an enormous bird that was almost
12 feet tall.

B: The discovery, described today represents the first giant
flightless bird known to have lived in the Northern
Hemisphere.

C: Almost two million years ago, giant hyenas, saber-
toothed cats, and camels roamed across the European
continent.

D: The extinct animal, weighed in at a whopping 990
pounds—almost three times as much as Its closest living

relative, the ostrich.

Options:

1. v CABD
2. = CADB
3. = BACD
4. = BADC

Question Number : 140 Question Id : 54592724178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has four parts, rearrange the given parts so as to
form a meaningful sentence.

A: sometimes winning.

B: to a clean environment—and

C: kids are claiming a right

D: From Colombia to Pakistan to the Netherlands,

Options:

1. = CBDA
2. v DCBA
3. = DBCA
4.« CBAD

Question Number : 140 Question Id : 54592724178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has four parts, rearrange the given parts so as

to form a meaningful sentence.

A: sometimes winning.
B: to a clean environment—and
C: kids are claiming a rnight

D: From Colombia to Pakistan to the Netherlands,

Options:

1. = CBDA



2. v DCBA
3. = DBCA
4. = CBAD

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions;

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :
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Online
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20
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5459271436
Yes

Question Number : 141 Question Id : 54592724179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: The experts at the center thought the bird didn’t have a
chance to survive.

B: In January, an anonymous source delivered a very sick
golden eagle to the Montana Raptor Center.

C: The young male eagle was in bad shape, barely breathing,
curled up, talons clenched.

D: The centre, in Billings is renowned for its rehabilitation of
injured birds.

Options:

1. » BDAC
2. » BCDA
3. v BDCA
4. = BCAD

Question Number : 141 Question Id : 54592724179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: The experts at the center thought the bird didnt have a
chance to survive.

B: In January, an anonymous source delivered a very sick
golden eagle to the Montana Raptor Center.

C: The young male eagle was in bad shape, barely
breathing, curled up, talons clenched.

D: The centre, in Billings 1s renowned for its rehabilitation of

iInjured birds.

Options:

1. = BDAC
2. = BCDA
3. v BDCA
4. = BCAD

Question Number : 142 Question Id : 54592724180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the synonym of the given word.

Commencement

Options:

1. v Beginning



2. » Contrast
3. = Dissimilarity
4. = Composition

Question Number : 142 Question Id : 54592724180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Commencement

Options:

1. v Beginning
2. = Contrast
3. = Dissimilarity
4. = Composition

Question Number : 143 Question Id : 54592724181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Adamant

Options:

1. = Disciple
2. v Lenient
3. » Generous
4. = Accurate

Question Number : 143 Question Id : 54592724181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the antonym of the given word.

Adamant

Options:

1. = Disciple
2. v Lenient
3. ® (Generous

4. = Accurate

Question Number : 144 Question Id : 54592724182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Deceptive

Options:

1. » Bilased

2. » Esteemed

3. v Misleading
4. = Conventional

Question Number : 144 Question Id : 54592724182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Deceptive

Options:



1. = Biased

2. = Esteemed
3. v Misleading
4. = Conventional

Question Number : 145 Question Id : 54592724183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Consent

Options:

1. v Dissent

2. » Prominence
3. » Approval

4. = Concealed

Question Number : 145 Question Id : 54592724183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Consent

Options:

1. v Dissent
2. = Prominence
3. = Approval

4. = Concealed



Question Number : 146 Question 1d : 54592724184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Serene

Options:

1. » Unfamiliar
2. v Peaceful

3. = Upright

4. = Precise

Question Number : 146 Question 1d : 54592724184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Serene

Options:

1. = Unfamiliar
2. v Peaceful
3. = Upnight
4. = Precise

Question Number : 147 Question 1d : 54592724185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:



1. v Persistant
2. = Inability

3. = Eliminate
4. = Unpleasant

Question Number : 147 Question Id : 54592724185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Persistant
2. % |nability
3. = Eliminate

4. = Unpleasant

Question Number : 148 Question Id : 54592724186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. » Laborious
2. v Beneficiel
3. = Vacancies
4. = Parallel

Question Number : 148 Question 1d : 54592724186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the wrongly spelt word.

Options:

1. = Laborious
2. v Beneficiel

3. * Vacancies

4. = Parallel

Question Number : 149 Question Id : 54592724187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Pamphlet

2. » Concelivable
3. v Unforgetable
4. » Exhaustion

Question Number : 149 Question Id : 54592724187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Pamphlet

2. « Concelvable



3. v Unforgetable

4. = Exhaustion

Question Number : 150 Question Id : 54592724188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Run like the wind

Options:

1. v To run very fast
2. = To be inconsistent
3. » Lacking support
4. = In a short time

Question Number : 150 Question Id : 54592724188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Run like the wind

Options:

1. v To run very fast
2. * To be Inconsistent
3. #» Lacking support
4. = In a short time

Question Number : 151 Question Id : 54592724189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the meaning of the given idiom.

Jump on the bandwagon

Options:

1. = To be careless

2. v Follow the trend

3. = In a hurried manner
4. = To take a risk

Question Number : 151 Question Id : 54592724189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Jump on the bandwagon

Options:

1. = To be careless
2. v Follow the trend
3. % |n a hurried manner

4. = To take a risk

Question Number : 152 Question Id : 54592724190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Go down in flames

Options:

1. = To arrive early



2. = To be in short supply
3. v To fail spectacularly
4. = Lack in concentration

Question Number : 152 Question Id : 54592724190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Go down In flames

Options:

1. = To arrive early
2. » To be In short supply
3. v To fall spectacularly

4. = Lack In concentration

Question Number : 153 Question Id : 54592724191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

To have unlimited power

Options:

1. v Omnipotent
2. *» Autocracy

3. * Autonomous
4. = Indelible

Question Number : 153 Question Id : 54592724191 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

To have unlimited power

Options:

1. v Omnipotent
2. *= Autocracy

3. * Autonomous
4.

% |ndelible

Question Number : 154 Question Id : 54592724192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

Impossible to believe

Options:

1. = Illegible
2. v Incredible

3. = Inconsistent
4. = Indelible

Question Number : 154 Question 1d : 54592724192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of

words given.

Impossible to believe

Options:

1. = lllegible
2. v Incredible

3. % |nconsistent

4. = |ndelible

Question Number : 155 Question Id : 54592724193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

An account of someone’s life written by someone else.

Options:

1. = Autobiography
2. = Bibliography
3. v Blography

4. = Calligraphy

Question Number : 155 Question Id : 54592724193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of

words given.

An account of someone's life written by someone else.

Options:

1. = Autoblography
2. % Bibliography
3. v Biography

4. = Calligraphy

Sub-Section Number: 2
Sub-Section 1d: 5459271437
Question Shuffling Allowed : Yes

Question Id : 54592724194 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

QQuestion Label : Comprehension



Answer the questions based on the following passage.

Education has become one of the clearest indicators of life
outcomes such as employment, income and social status, and
is a strong predictor of attitudes and wellbeing.

Education is often used by people to shape their ‘social
identity’, framing their understanding of themselves and their
relationships with other people. A positive, affirming social
identity is associated with a range of positive outcomes in life,
such as increased wellbeing, health, social trust and political
engagement.

However, the emphasis on education in today’s society makes
it much harder for people with low levels of education to
develop a positive social identity. This can negatively affect
self-esteem and wellbeing.

The research project Identity, Socioeconomic Status and
Wellbeing, which is funded by the Economic and Social
Research Council’s (ESRC) Secondary Data Analysis Initiative,
has investigated the psychological effect of differences in
education. This study is the first to compare the strength and
stability of the ‘education effect’ on a wide range of outcomes
over time.

The researchers analysed data from the British Social
Attitudes Survey, the British Household Panel Survey and the
International Social Survey Programme. Findings indicated a
clear association between education and wellbeing.

The results suggest that higher education levels are associated
with higher levels of political interest, social trust, health and
wellbeing, and lower levels of political cynicism and hostile
attitudes towards immigrants. These effects were found to be
relatively stable over time. Most of the positive effects of
education are linked to the benefits associated with achieving
a university education.



Sub questions

Question Number : 156 Question Id : 54592724195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The subject matter of the given passage deals with:

Options:

1. ¥ The wellbeing effect of education
2. » Soclal identity

3. » Emphasis on education

4. = Self-esteem & well-being

Question Number : 157 Question 1d : 54592724196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the given passage, what can negatively affect an
individual’s self-esteem and wellbeing?

Options:

1. = Social Identity

2. v Low levels of education
3. = Income and social status
4. = Attitude towards life

Question Number : 158 Question Id : 54592724197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From among the given options choose the most appropriate
antonym of the word ‘cynicism’ as used in the last paragraph
of the passage:

Options:

1. = Mistrust



2. v Optimism
3. » Hostility
4. = Relevance

Question Number : 159 Question Id : 54592724198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is/are not true according to
the passage?

Options:

1. = Education has an impact on income and social status.
2. » Education plays a role in shaping people’s ‘social identity’.

3. v Higher education levels is associated with hostile
attitudes towards immigrants.

4. = Higher education levels are associated with lower levels
of political cynicism.

Question Number : 160 Question 1d : 54592724199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The researchers analyzed data from:

Options:

1. = The British Social Attitudes Survey

2. = The British Household Panel Survey

3. = The International Social Survey Programme
4. v All of the above

Question Id : 54592724194 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Question Label : Comprehension



Answer the questions based on the following passage.

Education has become one of the clearest indicators of life
outcomes such as employment, income and social status,

and is a strong predictor of attitudes and wellbeing.

Education is often used by people to shape their ‘social
identity’, framing their understanding of themselves and their
relationships with other people. A positive, affirming social
identity is associated with a range of positive outcomes in
life, such as increased wellbeing, health, social trust and

political engagement.

However, the emphasis on education in today’s society
makes it much harder for people with low levels of
education to develop a positive social identity. This can

negatively affect self-esteem and wellbeing.

The research project Identity, Socioeconomic Status and
Wellbeing, which is funded by the Economic and Social
Research Council’s (ESRC) Secondary Data Analysis
Initiative, has investigated the psychological effect of
differences in education. This study is the first to compare
the strength and stability of the ‘education effect’ on a wide

range of outcomes over time.

The researchers analysed data from the British Social
Attitudes Survey, the British Household Panel Survey and
the International Social Survey Programme. Findings
indicated a clear association between education and

wellbeing.

The results suggest that higher education levels are
associated with higher levels of political interest, social trust,
health and wellbeing, and lower levels of political cynicism
and hostile attitudes towards immigrants. These effects were
found to be relatively stable over time. Most of the positive
effects of education are linked to the benefits associated

with achieving a university education.



Sub questions

Question Number : 156 Question Id : 54592724195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The subject matter of the given passage deals with:

Options:

1. v The wellbeing effect of education
2. = Soclal identity
3. * Emphasis on education

4. = Self-esteem & well-being

Question Number : 157 Question Id : 54592724196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the given passage, what can negatively affect

an Individual’s self-esteem and wellbeing?

Options:

1. = Social ldentity
2. v Low levels of education
3. = Income and social status

4. = Attitude towards life

Question Number : 158 Question Id : 54592724197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



From among the given options choose the most appropriate
antonym of the word ‘cynicism’ as used In the last

paragraph of the passage:

Options:

1. = Mistrust
2. v Optimism
3. # Hostility
4. = Relevance

Question Number : 159 Question Id : 54592724198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements isfare not true according

to the passage?

Options:

1. = Education has an impact on income and social status.
2. » Education plays a role in shaping people’s ‘social
identity’.

3. v Higher education levels is associated with hostile

attitudes towards immigrants.

4. = Higher education levels are associated with lower

levels of political cynicism.

Question Number : 160 Question Id : 54592724199 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

The researchers analyzed data from:

Options:

1. = The British Social Attitudes Survey

2. » The British Household Panel Survey

3. = The International Social Survey Programme

4. v All of the above
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Question Number : 161 Question Id : 54592724200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST 4 Thg a1 Yy 3Tedd dr YA garm g2

Options:

1. = § U0 AT 4TI

2. v ¥ @ & 1T 3ITAT 9Tl
3. % UYT ®IH 7 &l

4, » argl § AT SIS

Question Number : 161 Question Id : 54592724200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SdH 8 Tohg areFg A geuaraess 37503 ch|1;|'<‘:|’l'clT§3iT%‘?

Options:

1. = & Oy 3T ATl

2. v # F1H & 9IS 3T 9T
3. = QAT FIH A |

4. » amgl #H FAET ATHMI

Question Number : 162 Question Id : 54592724201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T § & DIF-8T A SC g7

Options:

1. v eli®w
2. % P
3. % g4r
4. % 9g

Question Number : 162 Question Id : 54592724201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFeTfoTed & & HieaT-ar dcdd esg &7

Options:

1. v olh




Question Number : 163 Question Id : 54592724202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARTGT # DIN-9T GATT 872

Options:

1. » IqUEY qAE
2. * HHYRYT GATY
3. v T 9Ty

4. = 32 gAY

Question Number : 163 Question Id : 54592724202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRTET H Hid-aT AT &7

1. = HFWW
2. * FAURT TATH
v fe@s @aw

3.
4. » gded HHTH

Question Number : 164 Question 1d : 54592724203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT § DI-GT IUHT g?
Options:

1. = ‘37
2. v 3T’
3. % I
4, = 3T

Question Number : 164 Question Id : 54592724203 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

‘HcTed H Hiad-AT 39T &7

Options:
1. = ‘37
2. v ‘AT
3. = 3od
4. = 3T

Question Number : 165 Question Id : 54592724204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT, HAT H IS TOUT g3T § 39 ATehd # @itchd 9IS 3

Options:

1. » GHSYCTID Ge-TH

2. v JTSEIeTDh G-

3. * WYAdTah oA

4. » GHSUSTED Fe-TH

Question Number : 165 Question Id : 54592724204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Qmmﬁaﬂé%mgm%w grFg H IGIThd 25 &

Options:

1. = HFTUd<Ih JoaTH

2. v e drass ddaTH
3. = YoedTdesh TdaTe
4. » GFEFTETHR dITH

Question Number : 166 Question Id : 54592724205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3SR T TITgeT=iT AeE, g

Options:

1. = 3reet




2. % TqgT
3. % &q@
4. v qigq

Question Number : 166 Question Id : 54592724205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3SR T TATIAMT <06 &

Options:

1. = 37edr
2. = Jar
3. = &
4. v gGgq

Question Number : 167 Question Id : 54592724206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GHTY & Teli¥ <EE, 3

Options:
1. » &Th
2. * Told
3. v g™

4., = qIh

Question Number : 167 Question Id : 54592724206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TATE T [AellH ¢ &

Options:

1. = =giad
2. % Yol

3. v =
4, = dIh



Question Number : 168 Question Id : 54592724207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ T a1 & Tolq Teh A T 21 Dl

ST 91T & A9 &l /141

Options:

1. *» gaATeaT
2. % &g
3. v ST
4. % ST

Question Number : 168 Question Id : 54592724207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foT 10 gy & TOIT Uk oreg T IIed Hi|

Sl Tolel & A 1 Aol

Options:

1. = @aredr
2. = §ig
3. v ST
4. = eTFd

Question Number : 169 Question Id : 54592724208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ T reEf # g erdl ellet LGS DT ATT PR

Options:

1. v eTgdieehd]

2. % STl
3. * gIgdTiddd]




4. » grYATdd]

Question Number : 169 Question 1d : 54592724208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U 7 orsar H TE ddell dTel UeE AT T Hi|

Options:

1. v TIETAhd]

2. = gIEATdeFd]

3. = grEAIaehd]

4. = GTEATTAF]

Question Number : 170 Question Id : 54592724209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“TeITIHT g elTeil GHUTA” & Tl e (e, T Tg el

Options:

1. * 3=lel GHUN
2. v el GHUN
3. * 3ffcrdel GHU
4. * 3ITEAT G

Question Number : 170 Question Id : 54592724209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“TATTHTT {@al dTell TFlced” o [olT Ueh e16G T TAA |

Options:

1. = 37<Iel TFIlcedd
2. v Iol GFdlcd

3. = 3fg=er @ealed
4. = e grafea

Question Number : 171 Question Id : 54592724210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YU DT TIIgaTe UAeC g




Options:

1. v 3TdT
2. % BT
3. T
4, = qTET

Question Number : 171 Question Id : 54592724210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U FT IR AT §:

Options:

1. v 31d9
2. = 39T
3. = G¢
4, » T

Question Number : 172 Question 1d : 54592724211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAHATCl T UG & Fgl 3rd-He, @I TIT il

3 - 37T - ?
Options:

1. = igﬂﬁl—w
2. v THUT-gq

Question Number : 172 Question Id : 54592724211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafad ese-gvm & @@ - F1 Ty Ff0]

Y - 39T - 7

Options:



» ferar-Fa
< W—%WT
TR TR T-41Ta1

* QRAN-HTIT

ol
#®

Question Number : 173 Question 1d : 54592724212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qrdch GUS ellel AS, PAT Dgelld g2

Options:

1.« &G
2. % qNEG
3. v qT&
4. » UH

Question Number : 173 Question Id : 54592724212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A1k TUS dTel eec, FAT hadlld &7

Options:

1. » &6
2. % AHTEG
3. v A&
4, = TIH

Question Number : 174 Question Id : 54592724213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JITY T TeleTi e 3l

Options:

1. » gl
2. % QM+

3.« Ul



4. v Bield

Question Number : 174 Question 1d : 54592724213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JoTer T [FellH elsg &l

Options:

T. = el
2. = 9Mfed
3. % TOT

o,

4. v Fead

Question Number : 175 Question Id : 54592724214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Téar: Teu My ferepelul # & e e T T DY

Options:

1. » g
2. v Udd
3. % diud
4. » TagT

Question Number : 175 Question Id : 54592724214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Ru a0 [Feur 7 & UAE AT T Tl |

Options:

1. « vafead
2. » 4@
3. » e
4, » Taga

Question Number : 176 Question Id : 54592724215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

chicl AT AT ®7 AT GIIT?




Options:

1. * @l
2. % oiTgepr
3. = @A
4. v FHATIH

Question Number : 176 Question Id : 54592724215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FId T THITT T FAT FAM?

Options:

1. = a3
2. * OIZIeRT
3. % haml
4, v FAEAT

Question Number : 177 Question 1d : 54592724216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT e BT 3 dgaa giaul

Options:

1. = guiy
2. % TUTIMY
3, v aul

4. % YT

Question Number : 177 Question 1d : 54592724216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

quT eree; T 3T S v
)

Options:

1. = gEIQ
2. % T
3. v @ur




4. = FEEFTOT

Question Number : 178 Question Id : 54592724217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

HIgT TeRT<SiT TgIc) UGTd g 39 a1 # Xepd AT hl et
IIYETETh G-TH 4 el

Options:

Question Number : 178 Question Id : 54592724217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e TeRTerS fesdr vera & =0 gy & Neg wure $r
gict HeaqEyarash HIATH & |

Options:

1. = 7

2.
3. v 3B
4.

Question Number : 179 Question Id : 54592724218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

<hTel & STET T GHee had gidT g?

Options:

1. = qo-
2. v TshdT
3. % AT
4. = AqIT

Question Number : 179 Question Id : 54592724218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FTeT o 81 T JFaT forad arar &7

Options:

1. = g<la
2. v TopaT
3. % Gar
4, = g

Question Number : 180 Question 1d : 54592724219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Thd = TR @ gid 8?

Options:

1. vd e
2. % X
3. % O
4, = B

Question Number : 180 Question 1d : 54592724219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

areg Tehclel YRR & B £7

Options:

1. v didd
2. x AN

3. % I
4., = &
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Question Number : 181 Question 1d : 54592724220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl # HUETY e aTepd ®i--4ar g2

Options:

1. » TOE ST dTrehder’ e 3

2. % T T8g ST qTehdery STe §

3. v T8¢ ¥ g dTehda’ STTHeR D1 T8l &
4. * 3R, [Og &SI ATehde AR g

Question Number : 181 Question Id : 54592724220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeTela A avurdss are Sia-ar §7?

Options:

1. » 8§ &8T diehday Selal &

2. = Fg7 T8 §3T dehdal SAdad &

3. v % @ deht drhdat SATEaT FIS o8l &




4. = 3, TOg F87 drehday JaT &

Question Number : 182 Question Id : 54592724221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

. Ll
TH el T TS TAWTUT @t & ¢ AT arepd r e T gHT?

Options:

1. » I 7 ofenT T TS TA|Taur f ¢ dT givm

2. v T o G oiehT @l T[T W et & 1T
3. * TH o oienT T T[T TTHITT ol & T

4. = TTHITUT <Al oienT T T T & T

Question Number : 182 Question Id : 54592724221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH o oIl T T THYT &Y & OT T &7 sadared 41
LI

Options:

1. » TH o oRT FT ToF YT FT fe7m ghem

2. v TUA F AT o &7 Tog faeimor &1 ¢ e arm
3.  UHA o oehl T T [gefiyor =1 & fe=r

4. = TEAYUT & T T 5T TH & AT

Question Number : 183 Question Id : 54592724222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G AT BT T D

Options:

1. » T = IFRT MUT ST

2. v T 3 39H! T ST
3. * AT 5 IYDT AT ST

4. « FYORT @ &5 2T 3 T

Question Number : 183 Question Id : 54592724222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




& TR T T |

Options:

1. % AT o 3G fagiiT g
2. v «gIOTed o 38! oIl Sadma|
3. » AT o 3! MRTAT SEIET|
4, « RIS S 28 o 3|T J80

Question Number : 184 Question 1d : 54592724223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TPl T ST enTUT Teha=l ITEMYT UL TehdT 1T g7

Options:
1. = diF
2. % G
3. % UTg

4. v

Question Number : 184 Question 1d : 54592724223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl T FaNepI0T Tohdel TYRT 9T TordT 1T &7

Options:

1. = dlal
2. x AN

W

3. = 9

4. v ar

Question Number : 185 Question Id : 54592724224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JUCThy 3T a1pd # dl § |

Options:
1. * JUCTHY Geldo €T & UgPd gidT g, aATepd Tl
2. % JUCTHY GeldT eTchd H 3TelTT TG gl




3. v g1 DT FeIdd YFNT ZIdT g: T IUaTpd @l gl
4, » @IS 3fdT Tal giar al

Question Number : 185 Question 1d : 54592724224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3uareT A g # AT § |
Options:

1. * 3YATHY TS §9 & YIFd g1 &, AT el

2. » IUGTRY T9T ITFT & 37el9T IgdT &l
3. v A1 FT TqAT TANET BT &: fohe 3UATFT FT =TI
4. = PIZ AT 6T 81T &

Question Number : 186 Question Id : 54592724225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MEer: =ie &2 T 98 @ IR 9T & S1eT 47 g (A), (B), (C) 3R (D)
ShHTeh T T g1 ITUDT TG S@HT g Tch aTepd o Tehd WITT § AT, I,
T, Qe[S & ToTd UANT 2T S4T dYg i @IS i T gl gl i, i ghit
dl eTehd o TehdT Teh WTIT H §F g1 39 W T shHich gi 3ITTRT I gl

ST 7 g WU Y TeldT & (A)/ T arg Tererm GHTqd (B)/he & UL &t
(O)/Aeht h Telq 3MTeleT @i i Fie g (d)

Options:

1. = A
2.v DB
3.2 C
4. %D

Question Number : 186 Question Id : 54592724225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foader: A & a1 uesl & IR 9PN A Fier =T & (A), (B),
(C) 3N (D) FATFR €T T &1 IR T& T § b arFd &
forg 9T H SITRIOT, ATYT, Tiall, ST o ol TATT AT ST
RE T R ¢ dF =61 &1 I I @Rl ar arFg & FRreT vk
T H BT BT 3T HET T FHATHR &l 3T9HhT 3cad gl

oUTH o IE Wor Y foram & (A) ToF ag Taear gAra (BY/ade
% el g1 (C)/allerdl & AU 3des WM g I 7Er (d)

Options:

1. = A
2. v B
3. % C
4. = D

Question Number : 187 Question Id : 54592724226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= U o
AT AR« U ST DT DS JUTT gl @I Dl HYATHY AT GINT?

Options:

1. * TR T (U AT BT 3UTT gl @l

2. % AR G h AT DT DS JUTY Tgl @r
3. v TR A 2" [ 3T a=a1a &7 ds U Tl ol
4, = AR P UTY IY& &a1d BT dls 3UTT a1 al

Question Number : 187 Question Id : 54592724226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g ‘O o 39a g9 T s 3UTT Ial &I &l Heaeda
FIT BIETT?

Options:

1. # Y o 3Yel FAG T IUNT &0 SET




2. % A o TTT & TAF T g 3UTT ool &7
3. v I of 2@T TF 39+ F91F & g 3UTT T8l &l
4. » AT & Y 3Gk FAT HT hIS 3URT a6l &l

Question Number : 188 Question Id : 54592724227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STgT TP Pl T 31w ¥ of of, R & TR UdheH ¢ S, Tl e
Tel=g @7 TaNT TohaT ATaT 372

Options:

1. * Th

2. % 3L T g
3. * 3re]y feH
4. v quf fam

Question Number : 188 Question Id : 54592724227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STal arsFg T a1l 3ifead §9 of o, TN & dR UeheH &
S0, F@l Fg ™eg &1 wIeT Rar Jrar &2

Options:

1. = ol

2. %= 3807 Ieg
3. = 37eq TauH
4.JE|::U‘r'_ITE'ITI?:f

Question Number : 189 Question Id : 54592724228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“TPTR g1 YGTeI DT HaT 7Y 3?2

Options:

1. = MU T8
2. * 36T TGT
3. v 9T ST




4, % AT HA]

Question Number : 189 Question 1d : 54592724228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“PTEL Bl HFTAY FT FIT 37 &7

Options:

1. = foTg &1 gt

2. % 3Teldl IGdl

3. ¢ HET ATAT
4.&@?&%

Question Number : 190 Question Id : 54592724229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh &1 eTpd AT AT 1<l # Teh I g & U<, UGS, UCE-e IT AT i<l Teh
T 3T T eTITTAT SATaT 2l

Options:

1. v 3re(y oA

Question Number : 190 Question Id : 54592724229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh & IR AT greraTel # Uk a1 diE & UG, ¢feg, Ugaed 2T
gIeFTeT Ueh AT AT WX STITRIT ST &1

Options:

1. v 3e9 TUH
2. » O fouA
3. = 3&TaH
4. « TATTeETs




Question Number : 191 Question Id : 54592724230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ellenlTch “q STeT-Slel, § UTd-UTd” &1 1Y g
Options:

1. * e AT T FAR ZIAT

2. % TRUITH P Al T8I

3. % 37U+ TR T Thet THT
4. v TH ATellh dr & HI =TelTh

Question Number : 191 Question Id : 54592724230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SNehITeF “q STI-Tel, # ITA-9TT” =T 37T §:

Options:

1. * Ueh old 9 A il

2. = IRUTH Fo o 8T

3. » 39« [FT &7 Hel el

4. v JH AR A #H &7 TR

Question Number : 192 Question Id : 54592724231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S &Y e H U qreden 3R T@r MRefen gt aar agl ol S gl

Options:

1. » I T [g

Question Number : 192 Question Id : 54592724231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STe & eeal H Ueh A1deh 3N gEr el &1 e ggl oeral
ST &

Options:



1. = 38307 g

| i

2. v ol RIeg

3. = Vesldrdeh (<og
4. = QrAgearas ~es

Question Number : 193 Question 1d : 54592724232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“GATHCT T TgTarX T HT 3719 g2

Options:

1. * ST DTH P

Lol T
2. ¢ T35 B dTell

Question Number : 193 Question Id : 54592724232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“TIRITHET g HgTay &1 F37 379 &7

Options:

1. = ST RIH HLdl

2. v §815 Fla arell

3. = §&d BT alel
P |

4. = SH H ST

Question Number : 194 Question Id : 54592724233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STET U 31e]y Tl o W & YTiwd gl el FHATeT g, gl X fdhd o g
T YT STaTd g1 STTdT g7

Options:




4, * QIR

Question Number : 194 Question 1d : 54592724233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STEl 9T 37eq QU & WA 8 Hlfed &l hl FHTEAT 81, dal
R Tore eg &1 v tfaad & T 87

Options:

1. v H&QAUH
2. = forAgTCETeTsh
3. = JRAdIeh
4, = ATk

Question Number : 195 Question Id : 54592724234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TlhiTch “B3T elIgT ITH ollg &l Pleal g~ Pl A9 3

1. v oTel @ 97 <1fd &< 4T 2l

2. % ST HIIgT TH ollg @I STeld] I T g

3. » Ueh pIET ol GHI PIET G STelc, HSAT FohaT gl
4, » Te@mer §o 3R 0T o 51

Question Number : 195 Question 1d : 54592724234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ApITFT “GET NET ITH oNg hl hiear & 1 39 &

Options:

1. v Y S TH oq7T L T B

2. % 3T oN@T TTH og I el I aaT &

3. = Ueh HIdT I G FIAT & STeq THST Fohell &
4. « fe@mer F5 3 T TS TN




Sub-Section Number: 2
Sub-Section 1d: 5459271440
Question Shuffling Allowed : Yes

Question Id : 54592724235 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

Siter TEd T2 3UTSd Terer @ Uie: T 3 T & I Gyl

JqETg Sl T SI=<[@ U # gIdt g1 Tchdl ATer & 3=[® IT gL gI ar

TS 3ITEhdT IHeh! Teid o YW IT YW TIUITH o Tere & gidT gl agi
SUTg ST Die[d DHHT & Uid AT G ¢@TS UST gl ehde[d DAl
37 g UX ST S[eTTe[d ATgt Uelid gl TS U T, S8 L@, 3T, &
T GTgH hl St SHIT ST ST § I9h IS deh TRUISH, S 31TTE,
AT DT TG P Tg! U, T FehdTl I T gid gU A Tergfed ITHTE 1
HTgd i UG G # IST sgd 9T gidl g g1 Il IT STh3it <
9T 3N HIGH &Y HATT bl | ollT T LA gU Fd gl 37el deh TG
T TET €Y i AR WA TGT SEH T1gE &I [ INT T gl T HH AT &
FHUTS # ST IqUEATul ST ST SITdT g, Ig Wi SqE1g &1 gl ST gl
el DHT H HIgE TUTA gl gIdT, T JeT-agd 3N, Terymd, Hid
mﬁwmaﬁmm%ﬁwﬁa’rwaﬁ gST giHT
IT TH-UTT DH ToToT gl USAT gl ST deh MG T olTel TehdT TshdT
wmwﬁm%m&ﬁﬁ;@rgusmw ddh 39 IqEIg Dl T
maﬁ@?ﬁmﬁwﬁwﬁa%mwwwgwwaﬁ
& TAT A~ I S Ig AT AT ANST g9 T & aF gART IqI1E Ta! Pl
SITQIT G SqETE THT gl SITQIT, ST §H 37U+ [ &7 3T gAd gt
3% TS 3T 3G el & [elT &1S U&7 3 39 3§ 31, b yeer §
T SER-JUT 3Td-ATd 1¢@T8 &I U2qe 3R i -ehe[U SqUTg ATHD
IS & I T8 2l

Sub questions

Question Number : 196 Question Id : 54592724236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SURIpd TS & IEN I T AT STTTTer TehdT TohaIT S[aTuTR 21
3G<hT HTEHT & TTT g1 QTS USdT a6l deh I& IqHTg bl FT g Tl

gratl

Options:

1. = @
2. % AT
3. = Y
4. v IS

Question Number : 197 Question 1d : 54592724237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tehe YR & i P ¥ IATg e Udid gidT g2

Options:

1. % Pl
2. % Yol
3. v {ded
4. % JHAqT

,

Question Number : 198 Question Id : 54592724238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

hH HUTST # ¢@T AT TqULATYUl SIS AT Dhgelldl 82

Options:

1. v 3q918
2. % gar
3. % ST

4, » GIg9

Question Number : 199 Question 1d : 54592724239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et T T e & Tl &S USHT dhgertdT o

Options:

1. % 3R U
2. v 3918




3. = 3MU=ITRpdr
4, * GIEOR

Question Number : 200 Question Id : 54592724240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS T 3raa S 3

Options:

1. » 99

2. v 3qHIg DI ga€y

3. * GG
4. * HITIUIAUET

=,

Question Id : 54592724235 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



I o I 37afSd arerer & ufenw 3T TesT & 3caX SIS0

3cATE T Fadr 3 Ul A gidr &1 FhaT &g & 3 a1
Bl T felewd 3ITOhay 3R UgTd o 3T IT 37T IRUMA &
TR & BT &1 981 3cH18 i Fared FAI & Ui s Hoad
femms g=ar &1 3Thaed FAT FT 3T gl W 3T 2T TG
U &TdT| TcHIETT U T&TT, 39T I&TT, e & Affca asg &
ST 3HT AT ST & 399 Glead do WWIgd, ShdT 37fe FAD
T TEH FHT & T HehclT| %W@ﬁg@aﬁﬁ*ﬂa
3cTE IT 918 hT WA 9 H NsEr T qr ghar &r &l
STCATATRAT AT T3 & <M 3R TTed T FATC hT T e
WW?W%‘I T Tk 3cIE T Tl T &7 AR
HTHA TET TolgH HIEH T QT AT Gl &1 T FA AT &
HFIGS H S dcRATUT 3deq a@T AT &, Jg #3018 8l
FaT ST &1 O FAl § e 8T 780 axdr, ‘:ITQI’IBT—EIEFF
3T, TISTH, Gl geaTiey T cameT FoH e g3ar § 3N
F TS AT 3SR SSall, TST Blell AT EH-UTT FEH Tolell Fg)
USdT &1 I8 doh 3TeTed okl o9 fohdT ToRaIT SATIR AT 3T
T o T ol [CTS ISAT de deh 38 3cHTg hl T ured
e arar Ife I B BT & 3 FT AR 9T &
AT SAT o ol 3Meliead Blhd S T& SV AT o187 &4 ofr &
al 8ART 3cOT8 ol el S9N SART 3cA18 TAHT el SIua,
SIS &H 3Yel TAT T 3WACT FoAd &1 33 T3 89T 388 THele

SYL-3U 3TA-SI1a Q@S 49l Ucd 3 FA-Thed 318
STHS 3Teleg o facg oT&oT &




Sub questions

Question Number : 196 Question Id : 54592724236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TN ICHTE o Te[HN el o T oleTa foRdT

TohIT SATU AT 3T ST & T A8l [G@S 95T d§ o
38 3cHTg hI AT WTed gl ardrl

Options:

1. % FRT
2.« AT
3. = WY
4. v Fddeg

Question Number : 197 Question 1d : 54592724237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ford TR & FH T & 3cAE Fead Ydld BT §7

Options:

1. = IS
2. = Hlel
3. v Hhaed
4. % b

Question Number : 198 Question Id : 54592724238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FH FFIEA H ST AT TeRATOT Melee FT FHgelldl &7

Options:

1. v 3018
2. = qrdr
3. = o




4. = GEA

Question Number : 199 Question Id : 54592724239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

R8T T O fAda & v gis 9sar sgarar &:

Options:

1.w311,—e;a;rUT

2. v 3418
3. = ra=nieRdar

4, » HEER

Question Number : 200 Question 1d : 54592724240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IETeT ST 3T 20k &

Options:
1. = HgH
2. v 3cHIg i TI&4

3. * Hadom

e

4. % HISTILIOT]




